DNC Series 1S06431 \LDPC® DNC Series 1SO6431 L\\LDPC®

Standard Cylinder Standard Cylinder

I 5MER-SH/Overall Dimension

E AR / Normal Type DNC-S )
ZB+47#2(Stroke)

= L2 L3+1772(Stroke) 4
WH
o VD LI EE 8.07 sw2
4 L8 =T ¥
D w
©._—
= 2 @ L/ o
T A <0 A e P o2 &, g
= ¥ - .
— @ by
¢ : Y,
SWi D5
L6 L5 E

I iTH%3/Ordering Code

- X - - = I R =3 /Dimension Sheet
ﬂ-_

32.5 1/8 M10x125 416 62.8 120

SN #ARS fz 1712 TR BARS ElER R Fixed Type
BRI ER DNCISOG431#UERME  CyinderBore  Stroke  Adjust Storke . #RfER =E LA Blank:Normal type 40 24 35 16 38 M6 54 14 8 6 MI2x125 44 11 4 295 16 36 10 13 6 20 30 135
TAHIHH DNCD:I1SO8431 #RfE WAHE 321 25:25mm SN EHIR LB Al fE EER LB:front and back fixed type
MRS DNCJIS06431 R4 TIZ AT3E 2L 50-50mm Magnet Code ABTEEEE G3ES)  FAfront cover fixed type 50 32 40 20 465 M8 64 1/4 10 85 M16x15 51 18 4 30 17 51 10 17 8 27 | 37 144
Tube Type Series Code 75:75mm Blank:Without Magnet FBF*[‘IQ":"(E&“) (Front flange type)
Blank:quLE;reType it S Serch e CARBEEM(BE) Fbback cover had type 63 32 45 20 565 M8 75 3/8 124 10 M16x15 54 81 4 355 17 66 10 17 8 27 37 1575
T:Tie-rod Type Double Action Type ggfjﬁgﬁ%ﬁ}é}ﬂg}; (Back flange type) 80 40 45 25 72 M10 93 3/8 125 8  M20x15 624 952 4 36 17 105 10 22 10 345 46 1735
Mg M) R e SRS S L e 100 40 55 25 89 M10 110 172 118 10 M20x15 698 1004 4 39 17 8 125 22 10 38 51 189
Axis Double Action Type (Single Earring) 3 4 . . 4
DNCJ:ISO6431 Two Axis CB:back cover fixed type
Stroke Adjust Type (Double Earring) 125 54 60 32 110 M12 134 12 13 8 M27x2 | 83 124 6 447 22 14 10 28 12 46 | 65 225
SDB:back cover fixed type
oy (07 o |
nternal str r
MEBE4EH Internal structure 5p2 R~/ Overall Dimension
i 2R 2R
NO Pesighation NO Designation ;% E 8 /Double Piston Rod Type DNC-D-S
ﬁéﬁ*ﬂ?ﬂ/ﬁs’ton Rod Nut & 3 4F/Piston Rod
3 Bi 2= B 42 [€] /Front Cover Seal Ring 4 & imEhk/Bearing ssnaikssamnasnaks
5 HT25/Front Cover 6 28 M % £ [ /Buffering O-Ring | /@ @L =
7 %&0%/0-Ring 8  E®#F @ E/Pistion rod O-Ring 5 5 g R am Il
~ = |
9 7&30%/Piston O-Ring 10 k(A 1% )Magnet(Optional) = || @_ @ ”
7z 11 i/ Wear Ring 12 #IfE/Barrel L
NI\t 13 & 3% /Piston 14 2% M §+% £} [€l/Cushion Seal
15 2£;h 354t /Cushion Needle 16 5% /Back Over VD 7B+ {3 B(Stroke) i
17 A75 A 4242 /Hex Socket Screw 18 i 3= [E E 42 £ /Profile Bolt L15+§7 #8(Stroke)

i RTl'i/Dimension Sheet

I #14&/Specifcation I 17%2 Stroke |
W | ki Tz BA (T2 E . 30 35 40 45 a5 55

Stroke Range

#{E & X /Motion Pattern i &9 2= S/Fitered Air Bore | Standard Stroke |  Buffer Stroke = = — — — == =
T {E/ BR/Working Medium W #f/Double Action 32 20 VD 16 20 27 27 345 38
fiif [ 5236 [ 1 /Compression Pressure 1.5MPa 40 = o — e = s ==
= 51E/A/E f1Max.Operating Pressure 1.0MPa 50 fgo4(1)2§01gg 55

AR T4EE $1/Min.Operating Pressure 0.1MPa 63 200 250 320 10~2000

4 1h/Buffer S48 0 (47 8) /Air Buffer(Standard) 80 400 500 5

¥1 558 E/Condition Temperature -5~70C 100

{# A% E/Operating Speed 50~800mm/s 125 35

%% O1%/Port Size G1/8" G1/4" G3/8" G1/2"

075 076




Sl Series 106431 \LDPC® Sl Series 106431 L\\LDPC®

Standard Cylinder Standard Cylinder

Fle ™ I SEEigH A3k Cylinder theory output

SEREZ | EEFIME SZEMmR
/Cylmder /Extern FER /Cc;q%réﬁjsion

inside Diameter /Potion Patterm 3
Diameter | of Piston Rod Area(cm’)

32 12 I;Qﬂ;::é’ JEf Press Side 8.04 8.04 16.08 24.12 32.16 40.20 48.24 56.28 64.32 72.36
uble
Action $L{l/Pull Side 6.90 6.90 13.80 20.07 27.60 34.50 41.40 48.30 55.20 62.10
%5 i goiﬂbilﬂ [EfM/Press Side 12,56 1256 2512 | 3768 5024 6280 @ 75.36  87.92 10024 113.04
uble
Action i {ll/Pull Side 10.55 10.55 21.10 31.65 42.20 52.75 63.30 73.85 84.40 94.95
50 20 Dgoinbglg JEMIPress Side 19.63 19.63 39.26 58.89 78.52 98.15 117.78 137.41 157.04 176.67
uble
Action $i{l/Pull Side 16.49 16.49 32.98 4947 65.96 82.45 98.94 115.43 139.92 148.41
63 20 goiﬂ;::é’ JEMPress Side 3147 31AT 62.34 93.51 124.68 155.85 187.02 218.19 24936 280.53
uble
4 H Action  $i{l/Pull Side 28.03 28.03 56.06 84.09 112.12 140.15 168.18 196.21 22424 25227
I iTH%8/Ordering Code i _
80 5 bg:ﬂb-r JEMIPress Side 50.26 50.26 10052 150.78 201.04 25130 30156 351.82 402.08 452.34
uble
Action i {fl/Pull Side 45.36 45.36 90.72 136.08 181.44 226.80 272.16 317.52 326.88 408.24
X el - = 100 o5 Dgoihb%u JEM/Press Side 78.53 78.53 157.06 235.59 314.12 39265 471.18 428.82 628.24 706.77
Luble
Action  Hi{fl/Pull Side 7147 71.47 142.94 214.41 285.88 357.35 428.82 500.29 517.76 643.23
o S - ; : S Sid 122.72 12272 24544 368.16 490.88 613.60 736.32 859.04 981.76 1104.48
RIS Ak T8 AEITE HAEKS B ER K Fixed Type 125 32 B [E{MifPress Side
S|i|506431*m§§i77§-9 i Cylinder Bore  Stroke Adjust Storke =8 AR =EERR Blank:Normal type Action Hifl/Pull Side 114.68 114.68 229.36 = 344.04 45872 57340 688.08 802.76 91744 1032.12
SID:ISO§43‘I#;;,§I}§Z§=B§§(:7]§2 25:25mm S:HEHIR LBRIERIER LB:front and back fixed type e 5
zlJ:_lsoéztéﬂMﬁ{ﬂiEIﬁg! o Magnet Code FABTEEER(EIES)  FA-font cover fixed type(Front flange type) - - Dgoszfe [EfPressSide  201.06 201.06 40212 60318 80424 1005.30 1206.36 140742 160848 180954
enes vode 75:75mm Blank:Without Magnet  FB:R&ERBEER(F%=) FB:back cover fixed type(Back flange type) 7 T n
SI:IIZ)SOtgll?;jA S_tanﬁ_a\rd S:With Magnet CA [5 2 5 A 8 FIF) CAback cover fixed type (Single Earring) Action i {fl/Pull Side 188.49 188.49 376.98 565.47 753.96 94245 1130.94 131943 1507.92 169641
e . CBRHETRNEIR)  CBiback cover fixed type(Double Earring) FH%  TfPressSide  314.16 314.16 62832 94248 1256.64 1570.80 1884.96 2199.12 2513.28 2827.44
e s b TC: i EHEIER TC:Central Trunnion Type 200 40 Double :
SR G v T SDB:E&EER(SIHR) SDB:back cover fixed type Action 1 fil/Pull Side 301.57 30157 603.14 90471 1206.28 1507.80 180942 2100.99 241256 2714.13

Stroke Adjust Type

I 7% Stroke

I  MEPLH] Internal structure rey e == e
Bore(mm) HE (T Slangats slroke /Max.Stroke | /Permissible Stroke

ﬁé% ﬁé% 32 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 1000 2000
1 S 524F 42 8 /Piston Rod Nut 2 5% 58 #F/Piston Rod 40 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
3 B2 1B Front cover seal ring 4 0%/0-Ring 50 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
5 & 7R /Bearing 6 512 [Front cover 63 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
_____ 7 4 K04 Buffering O-Ring 8 % % 4F/Piston rod O-Ring 80 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
9 sTf/Barrel 10 % 5% /Piston 100 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
~ 125 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
! 2 :; E;f,\ﬂ;::::; ?-n:in :]]i mii(—;Ai;“?aeg:vjl(I(:t;T:al) 160 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
Ve I JL/ \J 1,, 13\>4 \15 15 l Z%;M&/Damping - 16 Wi;@:ﬁ/Hpex —— scriw 200 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
17 [E2/Back cover B EFRITIRIESALAHR, RINSBIBIROEREM. If you need special stroke,please Tell us, we can make according your require.
I 5MERSF/Overall Dimension
I ##&/Specifcation gy, — 8
g D 4% 4 82 1R(Buffer nut) D & or
pyBorem) 2 | 40 | so | G | e | i |25 | to0 | 200 | 20 | 320 n. .
51 {E& 3/ Motion Pattern £ A/ Double Action
T {E4r Bi/Working Medium E5/Air — g
[El7E B =X /Fixed Type HAR/Normaltype FAZType FBE!/Type CAZ!/Type CBZE!/Type SDBE/Type LBE!/Type TCE/Type = 7: { -4 " [ @ w
R E S5 E/Working Pressure Range 0.1~0.9MPa Gi GB =
SRIEE F1/Ensured Pressure Resistance 1.35MPa J/(zsme?% 1 &
1 AR EE E C/Operating Temperature Range -5-70C & 2.0 e k\‘\i
1 FE EZSE Bl/Operating Speed Range 50~800mm/s = 3
ZZ i BU5X/Buffer Type A% i /Adjustable Buffer l R_‘rilDimension Shee‘t
TR Sk 2 = R A N R N N N S SRR
BlE ol Gag e G Lol 200 105 Md2x2  M20 ®30 270 G1"
320 218 120 82 52 10 110 31 96 110 63 M48x2  M24 @34 340 270 G1"

077 078




S| Series 1S06431 \LDPC® S| Series 1S06431 L\\LDPC®

Standard Cylinder Standard Cylinder

I 5MERSH/Overall Dimension

A+TH(Stroke)
B C+T#(Stroke)
E E G G
) H 2-4 19208 (Buffer nut,
SIZ5/SI Series _ erm g
“H n ALDPC
% o
2:1 2 3 j 2 n_‘- Z V306L SCSDX5O
¥ ¥ —f f v
K w 2-0/) |- 2
AT (Side’s Breadth) || | 1]
N[Q QN
A1+TH2(Stroke)x 2
B C+{7#2(Stroke) B+Ti2(Stroke)
E E G o C E E+{7 f2(Strake . -
H 28 i R E(Buffer nut) H l 1Tmﬂ53/0rderlng Code
SIDF35/SID Series e -
>I 2 g@ B [ SN, x .:@'“ =1 >1 ,,,,,,,,,, _— X - - -
g 5 o o] = z
/2 ’ .
K w 20/} |
4 M&(Side’'s Breadth | | = & p—_ L. . - . .
Al N I RIRS o 1 72 L Zoi WERS BRIt Fixed Type
SC: #r /A T H B (B4 ) Cylinder Bore ~ Stroke Adijust Storke 28 R =E Y ] Blank:Normal type
gg? %@gﬁ%&@?ﬁm 25:-95mm S HEHIA LB AEREIER LB:front and back fixed type
aJ 3 LA 3 B S R e g S 2 \ \
P e i ik g 50:50mm Magnet Code FART&EIER(F3%=) FAfront cover fixed type(Front flange type)
n AZHKii(iSigfgteré:e:;Jﬂ‘ﬂ”&(adjuswd Str:l:;‘)’ SU: FrofE E s B AT R) 75:75mm Blank:Without Magnet FB:F&EERfF%%) FBback cover fixed type(Back flange type)
E F G G F (St?oﬁe) gépsetandard dotibleaction(Tie-rod Type] S:With Magnet CAfREREIZER) B EIR) CAback cover fixed type (Single Earring)
2E o : =100, 1) EHEER 3 : )
H 28R M E(Buffer nut) SCD :Double-shaft double action(Tie-rod Type) s E‘. EIE .(WEH) b backinover flx.ed type(Double Earring)
SCJ:Double axis double acting TC A EHERR TC:Central Trunnion Type
SIJFR5I/SIJ Series J T —_ = ol adjustable type(Tie-rod Type) TC-MAEBMIEE  TC-M:Central Trunnion Type attaching foot seat
) SU:Standard double acting
?I a. ¥ A 13 t’o o 5 {]z (Micky Mouse Type)
= P 2 &f 2 P

/ )
l(/w vimoyd 1 I N e ——— e Z+ 7] 7 #(Adjusted strok )

AT M(Side's Breadth)

I AEB4%# Internal structure

_N[Q eI - '
5 AR Fs AR
0. Designation NO. Designation
1 3 4 5 8 9 10 1 13 14

I R#%/DimenSion Sheet ; YN 4\Xﬁ\ E\ i ZAT42 £ /Piston Rod Nut 3& 4T /Piston rod

1 2
3 73 %%} [ /Front cover seal ring 4 &4k /Bearing
Y T
Ty o L‘:l_! 5 Hi55/Front cover 6
7

z3

(S}

32 142 190 187 48 94 30 28 16 275 22 17 6 M10x1.25 M6 AR e m & 0% /Pipe wall O-ring 8 i&#E 0% /Piston O-ring
40 159 213 207 54 105 35 32 18 29 24 19 7 MI12x125 M6 [:;l% . — 9 i& 3 /Piston 10 it EZ3R/Wear Ring

50 175 244 233 69 105 40 42 25 30 32 24 8 | M16x15 M8 % ,Di ‘o B 1 G f&/Barrel 12 & & E/Buffe seal ring

63 190 259 250 69 120 40 40 24 315 32 24 8 M16x1.5 M8 — 18 17/ — 13 ZANAst/Damping adjustable screw 14 & #/Back cover
80 214 300 286 86 128 40 53 30 3655 40 30 10 M20x15 M10 15 M7 FsRtE/Hex socket screw 16 442 /Tie Rod Nut
100 229 320 308 91 138 45 55 32 36 40 30 10  M20x15 M10 17 i #F/Tie rod 18  i&EFRAFEEE/Piston rod o-ring
125 279 398 | 3725 119 160 60 74 45 46 54 41 | 135  M27x2 | M12 I %ﬂ,#ﬁ/Specifcation
160 332 484 448 152 180 65 94 58 50 72 55 18 M36x2  M16
200 337 514 472 157 180 75 100 | 57 50 72 55 18  M36x2 = M16 M1Z/Bore(mm) 32 | 40 80 100 160 200 250 | 320
%11k & X/Motion Pattern £ 7 & /Double Action
T {E 4+ BR/Working Medium % S/Air
HEEs J i 2 = L ‘ Z E Ef X /Fixed Type £ KA /Normaltype FAZ/Type FBZE/Type CAZ/Type CBZE/Type LBZ!/Type TCE/Type TC-MZ/type
32 135 G1/8" 4 75 7 47 325 12 10 21 - -
1§ FJE /15E Bl /Operating Voltage Range 0.1~0.9kgflem’
40 16 G1/4" 6 85 9 53 38 16 13 21 e a5 = e
1% J1/Ensured Pressure Resistance 35Mpa
50 155 G1/4" 85 75 75 65 465 20 17 23 - - - F
{FEFEESERE 'C/Operating Temperature Range -5~70C
63 165 G3/8" 75 85 9 75 56.5 20 17 23 : -
{§ F iR E5E El/Operating Speed Range 30~800mm/s
80 165 G3/8" 1 85 135 95 72 25 22 29 -
229 EIX/Buffer Type AT iA4E i /Adjustable Buffer
100 185 G1/2" 135 95 145 115 89 25 22 29 e
221 TF2/Buffer Stroke 24 3 22
125 23 G1/2" 14 12 14 140 110 32 27 35 = -
EEO1%/Port Size Gl G1/4" G3/8" G2 G34" G
160 25 G3/4" 15 12 20 180 140 40 36 40
200 25 G3/401 15 12 20 220 175 40 36 40 M SCD,SCJ #yEE 2 H:FAFB,LB, TCAITC-MZ!. SCD,SCJ Fixed Type:FAFB,LB,TC & TC-M Type.

079 080




SC/SU Series L\\LDPC® SC/SU Series L\\LDPC®

Standard Cylinder Standard Cylinder

y —3 LY -
I SEEiBH S Cylinder theory output I SMERSH/Overall Dimension
w ST =
SEIRZ | EEIME = R EAL
[Cylinder | /Extern HIER /C;rlrp:r?gsion A+ F72(Stroke)
inside Diameter /Potion Patterm A > B C+ {T#2(Stroke)
Diameter | of Piston Rod rea(cnt) E Fl e < os
55 i Dﬁin;;’ JE{7/Press Side 8.04 8.04 16.08 24.12 32.16 40.20 48.24 56.28 64.32 72.36 :1 LN, 2-0 N =t
ouble
Action  iflI/Pull Side 6.90 6.90 1380 =~ 2007 = 27.60 3450 @ 4140 4830 5520  62.10 P d
" s S [EpressSde 1256 1256 2512 3768 5024 6280 7536  87.92 10024 11304 ¢ 32~ ¢ 200 Cj { an g ? ;
ouble ] H
Adion iifi/Pull Side 1055 1055 2110 3165 = 4220 5275 6330 7385 8440  94.95 gg] -1 / E} s @
TH% EfPressSide 19,63 1963 3926 5889 = 7852 9815 = 117.78  137.41  157.04 176.67
50 20 Double : K/ W/ o) ()
Acion iifi/Pull Side  16.49 1649 3298 4947 = 6596 8245 = 9894 11543 13992 14841 4T IE(SIdes Breadth) == e
4By = Yis
& - Dgznéflé JE{M/Press Side 3117 31.17 62.34 93.51 124.68 15585 187.02 = 21819 24936 28053 <2 2-45 RARIR(Buffer nut) 1
ouple
Adion iif/Pull Side  28.03 2803 = 5606 8409 11212 14015 16818 19621 22424 25227  A1+7H8(Stroke)x 2+ AT HE(adusted stroke)
T [EflPressSde  50.26 5026 10052 15078  201.04 25130 30156  351.82 40208 45234 B C+{7 #E(Stroke) B+ {7 H(Stroke)
80 25 Double E Fl G e |E E+{712(Stroke) g?
Action Fifi/Pull Side 4536 4536 9072 13608  181.44 22680 27216 31752 32688 40824 H N L. =
= - 2.0 X
g% [Ef/PressSide 7853 7853 | 157.06 23559 31412 39265 47118 42882 62824  706.77 = T e = &
100 25 Double = 32~ ¢ 200 3
Adion 1ifI/Pull Side 7147 7147 | 14294 21441 28588 357.35 42882 50029 51776 64323 A lq ey
- Ao
- 5 DE:—J][%” [EffiPressSide 12272 12272 24544 36816  490.88 61360 73632  859.04 98176 1104.48 e fI NI o e >I
ouple
Action iif/Pull Side  114.68 114.68 22936 34404 458.72 57340 688.08 80276  917.44 1032.12 KW &
o . Dﬁoﬁi [EfiPressSide  201.06 20106 40212 60318  804.24 100530 120636 140742 1608.48 1809.54 4T f§(Side’s Breadth) a2 e .
Acion if/Pull Side 18849 18849 37698 56547  753.96 94245 113094 131943 1507.92 1696.41
7 A2+1732(Stroke) X 2+ 8] 31742 (adjusted stroke)
- . Dgoﬂ;’é [EfPressSide  314.16 31416 62832 94248 1256.64 1570.80 1884.96 2199.12 251328 2827.44 = oo s Toerone)
oS
Acion iifi/Pull Side 30157 30157 60314 90471 120628 1507.80 180942 210099 241256 2714.13 E NG i la = T wcke -3
. N, | 20 st P o e
4=TO kil =]
I 1712 Stroke / (1] e
¢ 32~ 200 A ad e X ZN
R/ Bk 1THE HiF(TiE 9z I &t 2 e @)
HY TIE “ TIE b all o B -
Bore (mm) ¥R {TH2/Standard Stroke /Max.Stroke | /Permissible Stroke T L 124 o \‘i/
K/ W =
5 80 100 125 160 1 0 250 300 350 400 450 500 1000 2000 4T 18 (Side’s Breadth (&
o2 B #(Side’s Breadth) L\ o apsaiButor ) @ z+ AR (adjusted stroke =
40 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 l RT]'?;EIDimension Sheet
80 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 32 e e ST a TR
160 25 50 75 80100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 76 e 7ol —— ~ = = o = — - = = e
200 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000 55 = 57 = = = -~ = 5 P = P 5 e
I 9" R‘]‘IOveraII Dimension 63 153 210 199 57 % 36 42 15 275 32 24 8 M16%1.5
80 182 257 242 75 108 47 54 21 33 40 30 9 M20%1.5
¢ 250- ¢ 320 SC#E 3l /Series 100 188 263 248 75 108 47 54 21 33 40 30 9 M20 % 1.5
H BC A+1715(Stroke) 0s 125 239 330 363 104 136 56 71 32 40 54 40 12 M27 X 2
D 2 8B F D
B B A(Bu e rit) E Or 160 201 412 450 121 166 62 92 60 50 72 50 14 M36 % 2
¥ 132 130 117 M36x 2
_ @{ rW/H%;—
I ® Bore/Symbol
| =l @] VI @ _ i
|| fa fan 32 M6 X 1 13.7 G1/8"
e 40 M6 1 9.5 13.5 G1/4" 6 8.2 9 50 37 16 14 21
(ZSieeisBreadtn) N s 50 M6 % 1 95 135 | Gl4 8.5 8.2 9 62 47 20 17
X G
Le.] \z& = 63 M8 1.25 9.5 13.5 G3/8" 7 8.2 85 75 56 20 17
. . 80 M10x15 1.5 16.5 G3/8" 10 95 14 94 70 25 22
L Y
l R‘]’%/Dlmensmn Sheet 100 M10x15 1.5 16.5 G1/2" 11 95 14 112 84 25 22
i Borefsvmbd A -ﬂ------- 125 M12x1.75 21 165 | our / / 40 1o 32 28
250 200 52 90 84 90 M42x2 M20 @ ®30 270 220 G1" 160 M16%2 25 26 G3/4" / / / 180 140 40 36
320 218 120 8 52 10 110 31 96 110 63  M48x2 M24 B34 340 270 G1" 200 M16%2 25 25 G3/4" / / / 220 175 40 36

081 082




MAG432 Series (ISO 6432)
Stainless Steel Mini Cylinder

iT#%3/O0rdering Code

=) ??TT?—%

#7582 / Series Code REMNRX HE waRS EE & / Fixed Type

MA FzH%! / Double Action Type TEERE  Cylinder Bor =A ARER = (3. & AR Blank:Normal type

MSA: ##%! / Single-Action Type CM:ERE g o5mm S: WEHIR LB:#I/EEEEL / Front and back fixed type
MAD: Wit & 7% / Double-shaft Double  U:FRE Magnet Code FA: BT EEZ / Front cover fixed type
Action Type Back Cover Type  17#  WAIA{TE Blank Without Magnet ~ SDB/E##%#23% / Back cover swinging type
MAC: E 48 %2 / With Cushion Type Blank:Fishtailtype Stroke Adjustable  S:With Magnet U:EEBER / Back cover fixed type
MAJ: S AT 82 / Double-shaft and CM:Rounded type Stroke Type
adjustable stroke type  U:Horizontal type 0~100mm
i (F7- o = ™ o ™
I MERSEH Internal structure 75 B FS B
NO. Designation NO. Designation
% i R =
1 23 4 5 5 R L LR B R E il 3% 34T /Piston Rod 9 TEENE Barrel
K 2 EIEHFI2E/Piston RodNut 10  EIE4FE £ [E/Piston rod O-ring
3  HiE%%$}E/Front Cover Seal 11 7&3£0% /Piston O-ring
7 4 &imshk/Bearing 12 B (FTi%)Magnet(Optional)
H ; % “ 5 | M2t Mexagon Screw 13 i & ¥ /Wear Ring
2 > ’{/ 78] 6 # 2 /Front Cover 14 i& % /Piston
kﬁ’ 74| 7 2% % £ [€|/Cushion Ring 15 A AIEZHEMex Socket Screw
8 & E0%/0O-ring 16 & #/Back Cover

I #1#8&/Specifcation
£1{2/Cyinder diameter(mim) I 17%2 Stroke

T1E9r B/Working Medium Z2 KA
FEELK/Motion pattern & zhA s 3 /Double Action or single Action = BKiFie
FREFE 71 /Ensured Pressure Resistance 15.3kgflcm’(1.5Mpa) tRAE1T#2/Standard stroke /Max.Stroke

(mm)

5% AJE 51/Max.pressure 10.2kgflen(1.0Mpa)

w1 1E A 51/Min.pressure 0.5kgflcm®(0.05Mpa) 1kgficm®(0.1Mpa) 10,25,40,50,80,100,125,160,200 400
NEFRIARE/ -20~+80°C (M i #4H L5 5:60 Clnternal Magnetic 10 | 10,25,40,50,80,100,125,160,200 400
Environment and fluid temp Install by Tach strap:Type Max:60C) 12 | 10,25,40,50,80,100,125,160,200 400
JEZE IR E/Piston veocity HRLER MR Rubber Bufer(Standard), S 42 (f£3%)Air Buffer(Option) 16  10,2540,50,80,100,125,160,200 400
4t /Buffering 50~750mm/s 20  25,40,50,80,100,125,150,160,175,200,250,300 1000
FiFHEE/Kinetic energy To Lerance = 0.2 03 0.4 0.9 27 4 25  25,40,50,80,100,125,150,160,175,200,250,300 1000
%& [12/Pipe Size M5 % 0.8 G1/8" e
AR ST AEFRAEITIZ AT {£3£4F Note:In non-standard stroke options.
I 5MER-H/Overall Dimension
L1+732(Stroke)
KV XC+HT#2(Stroke)
L2
EW WH _—
: AM o L3+712(Stroke) L4 —
L5 $~r; 8 H
SRR ]
44 ‘ 8 AR Y o

NI/ S AM ®CD| ®D| ®D5| ®D6| EE | EW | AM KV L1|L2|L3 L4 | L5 |SW2 XC
Bore/Symbol

8 M12x1.25

10 12 M16x1.25 4 15 | 15 12 M5 8 12 M4 19 7 6 78 22 34 12 10 - 16 64
12 16 M16x1.5 6 20 20 16 M5 12 16 M6 24 6 9 8 28 38 17 15 5 22 75
16 16 M16x1.5 6 20 20 16 M5 12 16 M6 24 6 9 9 28 44 17 15 5 22 82
20 20 M22x1.5 8 27| 27 22 Gi1/8" 16 20 M8 30 8 12 11232 516 20 18 7 24 95
25 22 M22Xx15 8 27| 27 22 Gi1/8" 16 22 M10x125 30 8 12 1195 36 531 22 20 8 26 104

083

\LdrC”

MAG6432 Series (ISO 6432)
Stainless Steel Mini Cylinder

ALDPC”

. i[/ll//l/l//[/

a1

Q'//////i@l/

}hn[h (

I iTH%3/Ordering Code

T T

Bs Type BERKX #1132 T8 AT HMARS ElEERX Fixed Type

MA: ) 2 MA:Double Action Type =RERE CylinderBore ~ Stroke  Adjustable ZB: iR 28 HAR Blank Normal type

MSA: £ 2 1 i} 2 MSA Single Extrusion Type ~ CM.ER 2 16mm~40mm Stroke Type SR EHIR LB BTREIER!  LB:Front and back fixed type
l\/lAD:iX% En}]_*" MAD Double Shaft Double UERS 0~100mm Magnet Code FART&EREER  FAFront cover fixed type
m/;gpgi?ﬂ%%ﬁfg HE pction Type glicnligios\ﬁ;imﬁi Blank:Without Magnet SDBfﬁi&?%it SDB:Back cover swinging type
AT fh AT 38 & MACD:Double Shaft Double GNiRoundeditvpe S:With Magnet UREREER  UBack cover fixed type

Action Damping Type
MAC:With Cushion Type
MAJ:Double-shaft And
Adjust Able Stroke Type

I AE%4H Internal structure

U:Horizontal type

Fs AR Fs AR
NO. Designation NO. Designation

i& £ 4F42 8 /Piston Rod Nut 2 &3 #F/Piston Rod
A &5 % #1[E/Front Cover Seal Ring 4 & imihs#&/Oiled Bearing
Fi 2542 £/Front Cover Nut 6
TN E /Stainless steel tube 8 A& K /Anti-crash cushion

i 2/Front Cover

N i& 3 [Piston 10 7&3 0% /Piston O-Ring
—%‘n— E5EK(AT3%) Magnet(Optional) 12 fif EE ¥R/ Wear Ring
221 % £ [€l/Seal cushion 14 A< FI242/Hex socket screw

o e
ale|a|lolNlo|lw|s

fz%/Back Cover

I ##&/Specifcation
£I12/Bore(mm) _ 6 20 25 32 40

Z{ERZ/Motion pattern & # B s) # 3 X/Double Action or Single Action

I1’E J&/Working Medium Z= S Air
EEIR/Fixed Type HA#/Normal Type LBE!/ Type FAZ/ Type SDBE!/ Type UZE!/ Type
1§Fﬁf£ 7156 Bl /Operating Voltage Range 0.1~0.9MPa
{RIEMTE 71/Ensured Pressure Resistance 1.35MPa
{# AR ESE Bl /Operating Temperature Range -5~70°C
{8 AR 56 Bl /Operating Speed Range 50~800mm/s
2RI/ FrAER/Standard Type Bf i # B/Anti-crash cushion
Buffer Type 42,h%E)/Damping Type - Al A3 & i/Adjustable cushion
$EENO1%/Pipe Size M5 x0.8 G1/8"

BN AT RIS B S AT AR, NRIRFELES R, HENEH.

Our Company can also make flat for cylinder covers inlet and outlet position. If you require this, it should be specified.

4=z0
I 7% Stroke
n’&I?é/Bore (mm) R4 T#2/Standard Stroke & A17i2/Max Stroke | Z&1F17F2/Permissible Stroke

100 125 160 175 200 300 500
20 25 50 75 80 100 125 160 175 200 250 300 500 650
25 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650
40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650

JEEAEFROEITIE AT {E3£$F Note:In non-standard stroke options.

084




MAG6432 Series Stainless

Steel Mini Cylinder

I M2 RSH/Overall Dimension

A+ iT12(Stroke)

\LdrC”

MAG6432 Series Stainless
Steel Mini Cylinder

ALDPC”

I 5MER-SF/Overall Dimension

A4i75 Stroke) R R
B O¢17 8 Bt Cuii 1 Stioke) B T TETSTI0) g |
E F x D1 E Flus x
__51 RN R1

o e

I [
alx —_ 43 - R
I *V, ﬂ *V/W,

B Rﬂ'%/Dimension Sheet
_

B C+iT#(Stroke) D
Q%4 E F G G s P (H8)
H G2 12X PQ_ e
= L =
MA 0] Tk
L = 54 i %N - f )g 1~ 32
; |
oV/W R
A+1T 1 (Stroke)
B C+ iT#2(Stroke)
E . F G G D1
i H GBIz 2-x G2 R1
J
B4 - =
MA-CM { ] L] T
\\ = ¥1 T ey = = 2
<~ " —
*V/ W
M,
A2+ 1712(Stroke)
B C+iT712(Stroke)
E E G
=S 'j AR [Gl2 1o.x 2
MA-U { } L i
vz [
J - sy — =
AN g /
v/ W/
M

I R-t%*/Dimension Sheet

Bore/Symbol
114 114 5 M6X 1
20 137 128 116 40 76 21 12 28 12 16 20 12 6 M8 x1.25
25 141 134 120 44 76 21 14 30 14 16 22 it 6 M10x1.25
32 147 134 120 44 76 27 14 30 14 16 22 17 6 M10x1.25
40 149 136 122 46 76 27 14 32 14 16.7 24 1= 7 M12x1.25
I K E KA CA ER N N
Bore/Symbol
M16x<1.5 6 275
20 M22x 1.5 10 8 16 19 10 12 27 8 6 G1/8" 7 33 29
25 M22x 1.5 12 8 16 19 12 12 30 10 8 G1/8" 7 33 29
32 M24X2.0 12 10 16 25 12 15 35 12 10 G1/8" 8 37 32
40 M30x 2.0 12 12 20 25 12 15 41.6 16 14 G1/8" 9 47 41

085

128 153 123 5

20 137 162 134 159 116 141 40 76 101 21 12 28 12 16 20 12 6

25 141 166 134 159 120 145 44 76 101 21 14 30 14 16 22 17 6

32 147 172 136 161 120 145 44 76 101 27 14 30 14 16 22 17 6

122 147 101 7

11/?’?%/
Inside Dlameterlsymbo‘ -.nn“.-
M6 <1 M16x1.5

20 M8x1.25 M22x1.5 10 8 16 19 10 12 27 8 6 G1/8" 7 33 29

25 M10x1.25 M22Xx1.5 12 8 16 19 12 12 30 10 8 G1/8" 7 33 29

32 M10x1.25 M24x2.0 12 10 16 25 12 15 35 12 10 G1/8" 8 37 32

40 M12x1.25 M30x2.0 12 12 20 25 12 15 416 16 14 G18" 9 47 41

I 45MER-H/Overall Dimension
MAD MAJ
A+{7#2(Stroke) <2 Al+i7(Stroke) <2
B C+{7#(Stroke) B+ {7 #5(Stroke) AY g = C+ {71 Stroke) = — ﬂ“:;hli’mmm AY
e G o - BB ] ._:‘ | 2x 1
tullly - ] f SN
e — L= | any -3 — = QUAZNAN N
| 3/ ; = \Y,
SV/W, W oV/ W - T+ T/

I R-~t3%/Dimension Sheet

REFFS/
Inside Diameter/Symbol

135 5 M6 1

20 156 153 40 70 28 12 16 20 12 6 M8x1.25
25 164 161 44 70 30 14 16 22 17 6 M10x1.25
32 164 161 44 70 30 14 16 22 17 6 M10x1.25

7 M12x1.25

Inside Dlameter/Symbol
M16x1.5 6

20 M22x1.5 10 29 9 6 G1/8" 7 33 29 19
25 M22x1.5 12 34 10 8 G1/8" 7 33 29 21
32 M24 <15 12 39.5 12 10 G1/8" 8 37 32 21
40 M30x2.0 12 49.5 16 12 G1/8" 9 47 41 21

086




MAL Series Aluminum alloy
Mini Cylinder

MAL 25X 25

I iTM%3/Ordering Code

I i

e Type BEEIK AR T2 "IiA1TiE HMARS B EE X

MAL: 8 MAL: Double Action type =\#REA  CylinderBore Stroke  Adjustable — =B8:#RER TP EAR
MISAL: 5 afii8 i £) MSAL: Single Extrusion Type CMERA 16mm~40mm Stroke Type S HERIF LBRIEEIER
MALD: WS #%  MALD: Dual Double Action Type UFRE 9=100Fm Magnet Code FARTEEER
MALC - 28 iR MALC With Cushion Type Back Cover Type Blank Without Magnet  SDB:f& Z&#2i25¢
MALJ: XA AT MAL J:Double-shaft And Blank:Fishtail type S:With Magnet Fixed Type

CM:Roundedtype
U:Horizontal ty/;e Blank:Normal type
LB:Front and back fixed type

FAFront cover fixed type
SDB:Back cover swinging type

Adjust Able Stroke Type

I HMEE4H# Internal structure

&5 &5
Designation NO. Designation
. & E 142 B /Piston Rod Nut 2 &% #F/Piston Rod
Ail 3= % %1 [ /Front Cover Seal Ring 4 & im%h#/Oiled Bearing
B 5542 £ /Front Cover Nut 6 Hiiz=/Front Cover
&t OAU[E|/Pipe wall O-ring 8 8 /Aliminum tube
B4 8 5 /Auti-crash cushion 10 EEFORZE/Piston rod O-Ring
;&% 0%/Piston O-Ring 12 53 /Piston
it ¥R MVear Ring 14 £ % £ € /Seal cushion
A7~ A2 /MHex socket screw 16 fa 5 /Back Over

I #1#/Specifcation

EN{ER. R /Motion pattern & 7 # 5§ & 5 :/Double Action or Single Action

T &9 Bi/Working Medium Z=S/Air

[E EZ 3 /Fixed Type H KA /Normal Type LBE!/ Type FAZ!/ Type SDBE!/ Type

{ERE /15EE /Operating Voltage Range 0.1~0.9MPa

{R3IEM} & 71/Ensured Pressure Resistance 1.35MPa

{$ AR FE St /Operating Temperature Range -5~70°C

1 Fik St /Operating Speed Range 30~800mm/s

SE AR/ #rAER /Standard Type B i # Fr/Anti-crash cushion

Buffer Type 2& 1% /Damping Type : 7] 98 3 28 #/Adjustable cushion

EEO1Z/Port Size M5x0.8 G1/8" G1/4"

BN EE AR s s L E S A FNER, MRREELES R, HFIEH.
Our Company can also make flat for cylinder covers inlet and outlet position. If you require this, it should be specified.

087

\LdrC”

MAL Series Aluminum alloy
Mini Cylinder

ALDPC”

I 7%% Stroke

#112/Bore(mm) | fR/fE1T#2/Standard Stroke B A{THE/Max.Stroke RiF1T2/Permissible Stroke
16 25,50,75, 80,100 ,125,160,175,200 300 500
20 25,50,75,80,100,125,160, 175,200, 250,300 500 650
25 25,50,75,80,100,125,160,175,200,250,300,350,400,450,500 500 650
32 25,50,75,80,100,125,160,175,200,250,300,350,400,450,500 500 650
40 25,50,75,80,100,125,160,175,200,250,300,350,400,450,500 500 650

F 5MER-St/Overall Dimension

A+ {7 #¥(Stroke)
- B C+ {7 #(Stroke) D
Q1 E F G/G GI2 s ®P (H8)
an alllgler ¥
H = 1
MAL -+ ;
-9 ‘ - 1=
T =
A +i7#(Stroke)
:E - 5 C+15 F(Stroke) s o
H / 5 G/2|, R1
H §—3| [2-X |
MAL-CM - Ll L
-4 B - 3
-
ey w
M
A2+ §TH(Stroke)
B C+ 71 (Stroke) AY
E . F.L G G —
T H R G2 |2-X G/2
7 - n
| 1 T ]
MAL-U L J &= — |
=l "I 7 o —
o
‘V
o/ w/

I R-t3%/Dimension Sheet

WEIHS
Bore/Symbol
16

114 5 M6 1
20 131 122 110 40 70 21 12 28 12 16 20 12 6 M8x1.25
25 135 128 114 44 70 21 14 30 14 16 2 17 6  M10x1.25
32 141 128 114 44 70 27 14 30 14 16 22 17 6  M10x1.25
40 165 152 138 7 M12x1.25
P
AR\ ks
16 M16x 1.5 6
20 M22x 1.5 10 8 16 19 10 12 29 8 6  Gig 7 33 29
25 M22x 1.5 12 8 16 19 12 12 34 10 8 GIE 7 33 29
32 M24 % 2.0 12 10 16 25 12 15 395 12 10  Gie" 8 37 | 32
40 M30x 2.0 12 12 20 25 12 15 495 16 14 G149 37 41

088




MAL Series Aluminum alloy
Mini Cylinder

MAL Series Aluminum alloy

\LdrC” ALDPC”

I 4MEERSH/Overall Dimension

Mini Cylinder

1T#%5/Ordering Code

Q% ’ ‘ i i
MSAL i MSAL-CM MSAL-CM RIS EL12 1T
CDM2B: W E#IREL Cylinder Bore Stroke xt‘:'l TR
= Series Code 20-®>40mm 0~1000mm ASER
CDM2B:Attach Buffer
magnet Type Blank:Rubber Buffer
A:Air Buffer
2 g B i |
£ FIL G a7l *P(HE) z f;: S EY_FT =
- = e 5
= = ] 4 I AE%# Internal structure = po
ppl== g =2 P M3 s LY BE = LTI NO. Designation
SN = W W S 1 HijZ/Front Cover
—\ \x‘\‘! 2 Ja#/Back Cover
- - 3 &1 & /Barrel
I R-F3%/Dimension Sheet . Nie 4 s
r— N N
goms | A | m | s | A EEEEE 0= S 5 i od
RE/THE Bore/Stroke 51-100] 0-50 [51- 100 50 51-100 ‘ = 6 SR /Oiled Bearing
. 7 HiE2% 1 [Bl/Front Cover Seal Ring
131 156 122 10 | 135 21 12 28 12 16 20 12 | 6
25 135 160 160 153 114 | 139 44 70 95 21 14 30 14 | 16 22 17 6 8 Wit F/Anti-crash cushion
32 141 166 166 153 114 139 44 70 95 27 14 30 14 16 22 17 6 9 iHE & [E/Piston Seal
165 190 177 138 163 46 17 I ;m*g./Specifcation 10 it & /Wear Ring
1:/4”%‘%—
20 M8x 1.25 M22x%1.5 G1/8" 7 T 149y Bi/Working Medium z= S /Air
25 M10x1.25 M22x 1.5 12 8 16 19 12 12 34 10 8 |Gus" | 7 | 33| 29 H{ERI T /Motion Pattern % £h%)/Double action
32 M10x1.25 M24 % 2.0 12 10 16 25 12 15 395 12 10 |G1/8"| 8 | 37 | 32 {RIEME 71 /Ensured Pressure Resistance 15.3kgf/lcm’(1.5Mpa)
40 M12x125  M30x20 12 12 20 25 12 15 495 16 14 G1/4" 9 47 41 S{#AJE 51/Max.pressure 10.2kgflem’(1.0Mpa)
B (1% A & J1/Min.pressure 0.5kgf/cm?(0.05Mpa)
£ IR ESE Bl 'C/Operating Temperature Range -10~+70C
I 5MER-H/Overall Dimension Lt .
{8 F & ESE El/Operating Speed Range 50~750mm/s
MALD MALJ ?%)WBuffering R BREE 1 (FRE) Rubber buffer(Stanfl::d),’—“Lf (fEi%)Air buffer(Optional)
172/ % /Margin of Stroke Error(mm) i
7 12(Stroke) <2 A1+{717(Strok) < 2+ 5] ¥ {7 IP(Adj Stroke; ki = .
E T C RIS T e 4 b o — &t EENOZ/Port size G/’ G1sg" Gi1/g" G114
i | 2x. = A |2:x
= == - Py 3 4 1 1
: _ — EINPpE = T B /A0 I 4$MERSH/Overall Dimension
i wi 1 2 <117 &r/// 2 | - | l AY &ﬁ 2
wow |\ T oW oot & ¢ 20~ ¢ 40 CM2 %5l /Series
*Fi41(Width across flats)B. 2P G 2-NN WA

I' R-t%*/Dimension Sheet

RIZ/TFS
Inside Diameter/Symbol
20

H. G —— WB

4
gp’ idth ac flats)B,
3334(Width across flats)| H ;f |H PA @7 ; 1
Eé ] 7N I" ) 2
AL el

2-®ER

-

MM = | N 15
H S+{7#E(Stroke) Nl ¢ —_
150 6 M8 x 1.25 ZZ+742(Stroke)
25 158 155 44 70 30 14 16 22 17 6 M10x1.25
32 158 155 44 70 30 14 16 22 17 6 M10% 1.25 I R#%/Dimension Sheet
40 184 180 7 M12x1.25 s
e i ’
. mEEe 8/ | Stroke | A| AL |B1|B2 G| H |H1|H2 s |zz|wa|ws
Inside Diameter/Symbol Diameter range :
20 M22x1.5 G1/8" 7 20 ~300 18 155 8 |20 8033 8 41 5 M8 %< 1.25 M20x15 1/8 62 116 115 85
25 M22%1.5 12 34 10 8 G1/8" 7 33 29 21 25 ~300 22 195 17 32 10 2680 13 8 45 6 8 335 55 M10x1.25 15 30 M26x1.5  1/8 62 120 115 10
32 M24x1.5 12 395 12 10 G1/8" 8 37 32 21 32 ~300 22 195 17 32 12 268,, 13 8 45 6 8 375 55 MI0x125 15 345 M26x15 1/8 64 122 115 115
40 M30% 2.0 12 495 16 14 G1/4" 9 47 41 21 40 ~300 24 21 22 41 14 3280, 16 11 50 6 10 465 7  M14x15 215 425 M32x2 | 1/4 88 154 14 15

089

090




CJ2 Series Stainless Steel
Mini Cylinder

I iTM%3/Ordering Code

Sl

RIS fz 1752 ;HE ELENESILER
CD2B:# AR Cylinder Bore  Stroke S: (R EEE) The type of air hole on
gDQB@i‘aH@ 8- 16mm 0~200mm  TSEH(GHEEEH) the head cover end
eries Code Action
CJ2B:Normal Type S:single action N
CDJ2B:Attach magnet Type (with spring return) Fig2/Blank - ZFEHA/Vertical
T:single action
(with spring extent) R #hE)/Horizontal

P/ Specifcation

TAEY }B?NVorklng Medlum z= S/AIr

{EEL/Motion Pattern P EEREALEE L Double action/Single Action Extrusion type/Single Action Drawing-in Type
{RIEM$E 71/Ensured Pressure Resistance 1.05Mpa(10.5kgflcm?)

% = (£ /& /1/Max pressure 0.7Mpa(7.1kgflcm?)

= {f{E A E J3/Min.pressure 0.25Mpa(2.5kgflem’) 0.15Mpa(1.5kgflcm?)
{E MR ESER C/Operating Temperature Range -10~+70°C
1 fl 1% E St El/Operating Speed Range 50~750mm/s
221 /Buffering i #2845 1 (7 %) Both side Rubber buffer(Standard)
172 /2 #/Margin of Stroke Error(mm) -
& O12/Port size M5 0.8
A - -
I 4MER~F/Overall Dimension
&% /Normal Type £
NN z o $#ESFUPiping port (M5X0.8)
®C MM & e $E5FL/Piping port(M5X0.8) $9
CJ2B6 I—
{ ] — a A
| N 1 M\ ] — /
hJ — N 14 A
mE A F LTl NA lLne |
H S+{7#8(Stroke) OB
Z+47#2(Stroke )
2
o
NN o oA IESIUPiping port (M5X0.8) o
MM = GA $ESFL/Piping port (M5X0.8)
¢C ¢ 2 M ”] 1 1 1
pril— LU LI
CJ2B10/16 T /\ e =
\ —I I 1
A F NA NB
08 H S+{TH(Stroke) WmETSARK
Z+17#2(Stroke) Port location on head cover:

) RTl'ﬁlDimension Sheet

£12/ Bore(mm) -n D | _F | GA -- NDhs _--
3 8 145 - M3 0.5 M6 1.0
10 5 12 14 4 8 8 5 28 M4x07 125 95 8 M8x10 46 - T4
16 % 18 20 5 8 8 5 28 M5x08 125 95 10  M10x10 47 - 75
091

\LdrC”

CJ2 Series Stainless Steel
Type Cylinder

ALDPC”

I 5MER-SF/Overall Dimension

B AR HEEE/Normal Type:Spring return CJ2B-CDJ2B

(2]
NN_ -5 S FUPipi rt (M5X0.8
MM 2 il ! LCB #SFU/Piping port M5X 0.8
D
oC d i == |
Z i I /\ =
i ] L] W —
& ]
/)
L OB A F|INA NB
H S+{7#2(Stroke) P e
Z+{7%(Stroke) Port location on head cover:

l RTl'iE/Dimension Sheet

345 | 435 | 475 | 61, 625 | 715 | 755 | 895

15 8 19 3 8 - 28 M3x05 3 6 Dote | (398) | (483) | (523) | (65, - @78 (183 B03 (645
10 151214 4 8 5 28 M4x0.7 55 95 8%, 455 53 65 17 - - - - 735 81 93 105 - - - -
16 151820 5 8 5 28 M5x0.8 55 95 105,. 455 54 66 78 84 108 126 138 735 82 94 106 112 136 154 166

¥ A ERIREL R <F/Attach Magnet size

I 5MER-St/Overall Dimension

HARFEREH/Normal Type:Spring extent CJ2B-CDJ2B

2 $£57L/Piping port M5X 0.8
NN 8 < a8
MM $D Z
T e
: 5 e = &
— —]
i = Z/
CJ2B6 {ff J A F LT[ NA NB
H+{742(Stroke) S+{T#2(Stroke) OB
Le 7+2 x 5#8(Stroke)
= oA IESIUPiping port (M5X0.8)
MM D NN 2
$C T

R e :
/ | — Sm
+ \ E'—| ) ioe—

CJ2B10/16 . A ¢ |l B

H+47 #2(Stroke) S+{7#%(Stroke)
0B
Z+2 x 17#2(Stroke)

P 9|‘ﬁ3RTl'/0verall Dimension

] *S

Bore FIGAH| MM | NN [NA|NB| BB |T 5= e [31-T4e~ 61~ T~ IO~ 126~ 5 [ 631~ 46~ e1~ 76~ T101~126~

(mm 30 60 75 | 100 | 125 | 150 15 45 60 75 100 125 | 150
i 555 73.5 4 835 87.5 | 1015

6 15 8 14 3 8 14528 M3xX05 M6x1 16 3 600013 515 (B05) 60\}) @85 - - 795) (885) | (925) [(1065) -

10 151214 4 8 8 28 M4x07 M8x1 125 55 8%, - 485 56 68 80 - - - - 765 84 96 108 - - - -
16 151820 5 8 8 28 M5x0.8 M10x1125 55103,.. - 485 57 69 81 87 111 129 141 765 85 97 109 115 139 157 169
% A B RIRE R <F/Attach Magnet size

092




SDA Series
Thin Type(Compact) Cylinder

ADVU Series
Compact Cylinder

\LdrC” ALDPC”

I iT®#/Ordering Code

A A

Lur@

Be E12 1712 FP"’ &€ & i HMARRS :ﬂ'%ﬂﬁq
ADUV &) Cylinder Bore  Stroke =8 AR Buffer Type TEFMMEAE  =H —kEEF
AEVU: S{E A #Emn Y ®16->100mm AR /Nomal Type: ASMRLL Magnet Code ~ S2: Xk i& #4F
AEVUZ: B {ER fuzhEl ®16-25:1-200mm  Cog Type Blank:Without ~ Plunger Code
Type $32-63:1-300mm Blank:Internal Thread Magnet Blank:Single end
ADUV:Double Action Type $80-100:1-400mm  A:External Thread AAttach Magnet connecting rod
AEVU:Single-driven type EB{EM/Single Action S2:Both ends

AEVUZ:Single pull type P 12:1-10mm
®16-100:1-25mm

I ##%/Specifcation I iTH%/Ordering Code
I N N I N A

connecting rod

M{EF W /Action WAEM. #A4F/AF/Double acting, single rod/double rod = et — — —_
{8 AR AR /F luid i E 452 S /Filtered compressed air
{RIEM £ J1/Ensured Pressure Resistance 1.5MPa
S ; RIRS Series Code 1712 AT R HMARS FE
£ E f1SEE/Operating ~ ADVU - -P-A 0.12~1.0MPa 0.1~1.0MPa 0.08~1.0MPa 0.06~1.0MPa SDA 9 8 STy Dok A T Siecks AdustShke.  sebas e
pressure range ADVU - -P-A-S2  0.13~1.0MPa 0.12~1.0MPa 0.1~1.0MPa 0.8~1.0MPa SSAB ;R SSA: Single Action Extrusion Type 5mm SR EHIR BSMF
5 = : - : STA BEh5I AR STA: Single Action Drawing-in Type 15mm Magnet Code N:FZF
IEFAF AR /Ambient and fluid temperature -20~80 (No freezing) SDAD X4t &R SDAD: Double-shalf Double Action Type e SarleWitot Magret.  CORTIES
{E% 042 /Port size M5 a1/ 14" SDAJ EaA[A1T#EE] SDAJDouble-shalf and Adjustable Stroke Type SAttach Magnet g|ank;|n_?§,— Tzread
‘outer Threa
TEEAT 2L 24 Female thread M4 M5 M6 M8 M12 N:no Thread
. pr
Piston rod thread SR &7 /Male thread M8 M10% 1.25 M12%1.25 M16Xx1.5 M20x1.5 m %Bgﬁm Internal structure
£Z)h/Cushion 5B 4E % /Rubber bumper
oF o F BN IR
¥ 5 73 7
’ - - = A . .
I ﬂ‘ﬁfRT.l'/Overa" D|menS|0n / NO. Designation Designation
ADVU[]-[]-P-A %5l /Series d 1 & #/Back cover 2 CH 131 /Type C buckle ring
; 5 SDA &/Type 3 i[5 #%0%/0O-ring 4 Bj548 3 F; /Anti-crash cushion
” g 11| MO | . | o, 5 % %/Piston 6 0% Piston O-ring
L m i 7 Bfi#E# 5 /Anti-crash cushion 8 &1 fEj/Barrel
——t l - //g ALEEBRE ¢ 12F016mm IR, F%R% 9 il 2 % #1 [ /Front cover seal ring 10 Hil #/Front cover
1 EE %:
b f?j'f—;{iiif,;}ﬁ?, SRR 1 7532 #F/Piston rod 12 7E I #T426 /Piston Rod Nut
i 1A —= —EfT E ::_‘E n
E @ o= 5 ol w 2RIENRE
NV A Note = i - 7
£ xS /2 To attach cylinder. 12 and 16 mmfrom above, use 1 ﬁg Des%r*\iation ﬁg Des%rﬁation
A it = & Q only 2 screwsdiagonally or non-magnetic screws. i i
= B += plus stroke length 1 f& % /Back cover 2 CZU$N#F/Type C buckle ring
L3 i -
BC = . i & Mininfiiei scresi-in depth 3 B $@# & /Anti-crash cushion 4 i& 3 /Piston
Zj:;;:z;;f:;) SSA El/Type 5 & %0% /Piston O-ring 6 [E473% % /Compressed spring
£
7 &It4/Barrel 8 8 & #&/Silencer
. o 9 Hif5 3 0% [Cover O-ring 10 A5 /Front cover
I R-5F%/Dimension Sheet 1 £ 2 /Piston rod

M/ D1 dH9 oMM| PL | RT | T2 | T6 | zU
Bore size(mm)
16

Fs AR FS AR

7 185 8 8 8 5 i 1 12 Designation NO. Designation

185 6 36 M5 1.5 38 4 18 10 8 M5 4 22 425 9
25 186 6 20 M5 15 396 2 18 10 8 M5 2 26 45 o 1 f& % /Back cover 2 CH! 131 /Type C buckle ring

: . : 3 Hif5 %0% /Cover O-ring 4 3H & 25 /Silencer
32 215 6 50 G1/8 2 445 5 20 12 8 M6 4 32 50.5 10 STA #/Type 5 S iBard 5 T —
40 215 6 60 G1/8 25 455 5 20 12 8 M6 4 42 52 10 = . 8 e
& 3E/Piston & 0% /Piston O-ring
50 22 6 68 G1/8 3 455 6 20 16 8 M8 4 50 53 13
e i 9 BA & K /Anti-crash cushion 10 il % #}[El/Frount cover seal ring

o — . = = 4 = s = s e e . = = L e 11 7T 2/Front cover 12 &I 4F/Piston rod
80 275 8 107 G1/8 4 56 8 25 20 8.5 M10 4 82 64 17
100 325 8 128 G1/4 5 66.5 8 25 35 105 M10 4 103 76.5 22

093 094




SDa sris . \LDPC"  sonseres . ALDPC"

Thin Type(Compact) Cylinder Thin Type(Compact) Cylinder

I ##&/Specifcation I $MER-H/Overall Dimension
 m@Boerm) | 12 ] %6 [ 2 | 25 | 32 | 40 | 5 | 6 | 80 | 100

2 - £ 5h%! / Double Acting A+ §§(Sfronke)
EER K /Motion Pattern . - » . , » : — B1 CHirit(Stroke)
B R B35 \E)/Single Adion Extrusion type Single Adtion Drawing-in Type H P3 P3 T1
T {£ 4/ B/Working Medium = SJAir M, -P——_i ﬁ— —_ Wy I g
EAE HEE/ £ 51%/Double Action 0.1~0.9MPa } [ uxas® 1 — ((Q
Operating Pressure Range & z/%1/Single Action 0.2~0.9MPa E SDA.SDAS #Type 7 / 7 Z _,] K/?;i \;
{RIEMS /£ 71/Ensured Pressure Resistance 1.35MPa i 56 é 3] ] 7)) o
{# FiR [Z St /Operating Temperature Range 5~70C _@Z_z-o & 2B, &g/y/ AN
m sz - & \//_ \Q‘j Y\ = \
FERRETEE/ £ 71%/Double Action 30~500mm/s 30~350mm/s 30~250mm/s X~ /,\
Operating Speed Range &3/ %)/Single Action 100~500mm/s 5 | N1 | N1 K1 7(Depth) E /&/,,/
22 AR /Buffer Type Bl 4% Hi/Fixed Type Buffer FH.C
EEO2/Port Size M5x 0.8 G1/8" G1/4" G3/8"

A+ {782 (Stroke

4=F0 B1 C+i7 &(Stroke)
I 17%#% Stroke es s
P4 P4
P@/Bore(om) | 12 | 46 | 20 | 25 |32 140 50|63 |80 [100 @
N 5~60 mm §5mm—ﬁ 5~85 mm §5mm % 5~90 mm §5mm—~%  100~110mm ﬁsmm—.& 5~90 mm §5mm %% 100~130mm §5mm—_ﬁ
oy, Notattach . Every 5smm Every 5mm Every 5mm Every 5m Every 5m Every 5mm —
SzEY magnet is groupedasone grade  is goupedasone grade  is groupedas one grade  is grouped as one g‘ade is grouped as one gade is grouped‘as one grade SDA.SDAS EType r .
Double
Action 1547/ | 5~50 mm §5mm—%  5~75mm F5mm—% = 5~90 mm S5mm—L% 5~90 mm F5mm—%  100~120 mm §5mm @ $20-4 100 as A 2:0 -
tach Every 5mm Every 5mm Every 5mm 100mm Every 5mm Every 5mm s T T
magnet is groupedasone giade  is groupedas one grade  is groupedias one grade is grouped as one grade is grouped as one grade * i i
ENGE 5~30 mm
- Not attach 55mm—4g R iy ; 3
BEHAE/  magnet Every 5mm is grouped as one grade is grolped as one gradle F,
Single
s R [ 5~30 mm
Liction tach H5mm—% TR . N1 N1
magnet Every 5mm is grouped as one grade is grouped as cne grade
& A4718/Max.Stroke 60mm 100mm 120mm 130mm

I R-t3%/Dimension Sheet
I 5pFR-H Outer Thread Dimension

s ) B2 + &% H17#2(Single acting Stroke) T =t FRAERY P #E 1
b2 +§n))g${ﬂx@_;fle acting Stroke) E+$iﬁ'§ﬁiﬁ¥§!(8ingle acting Stroke) iK/Type Standard type Attach Magnet | NE
bl 0 L L S F+ #3872 (Single acting Stroke) SRErEE= & 4
H Frig :)Jﬁtﬂfﬂz(SIngle acting Stroke) H Bore Size/Symbol
o I‘J* 12 22 5 17 32 5 27 = 6 4 M3x05 102 63
| 16 24 55 185 34 55 285 s 6 4 15 M3x05 11 28 73
: 20 25 55 195 35 55 295 36 8 4 15 M4x07 15 28 75
- > I (|
612~ 616 > el’ $20~ ¢ 100 i 25 27 6 21 37 6 31 42 10 4 2  M5%x08 17 28 8
e 32 315 7 245 415 7 345 50 12 4 3 M6 X 1 2 28 9
7” 40 33 7 28 43 7 36 585 12 4 3  M8x125 28 28 10
I /K w
2T w2/ 1/ w 50 37 9 28 47 9 38 715 15 5 4 M10x15 38 28 105
(2Side’sBreadth) 20 18 Al 63 41 9 32 51 9 42 | 845 15 5 4 M10x15 40 28 118
(2Side'sBreadth) M
M 80 52 1 41 62 1 51 104 15 20 6 5 M14x15 45 4 | 145
i RT]'iE/Dlmensmn Sheet 100 12 75 M18xis 20

A ?é/ Ff=
T S T S T AT . l.....
12

B J \ W

4 4 M5x0.8 10.2 6 5 M5X 0.8 MiA(Double Sides):®6.5/F(Thread):M5x 0.84@FL(Through ports): 4.2 16.2 23 5
16 17.5 16 4 15 10 8 4 M5x0.8 1 28 6 5 16 65 M5X0.8 M;h(Double Sides) ®6.5/F(Thread):M5x 0,847 (Through ports):®4.2 |~ 12 | 45 - 29 198 28 16 6 5 "
20 20.5 19 4 15 13 10 5 M6x1.0 16 28 8 6 20 - M5X0.8 M:h(Double Sides):®6.5F(Thread):M5x 0 847 (Through ports): @42 14 45 2 34 24 - 21 8 6 113
25 23 21 4 2 15 12 6 M8x 1.25 17 28 10 8 25 - M5X0.8 Mh(Double Sides) ®8.2/%F(Thread):M6x 1.04&FL(Through ports): ®4.6 15 55 = 2 40 28 3 31 | 10 8 12
32 25 22 4 3 15 17 6 M10x1.25 22 2.8 12 10 32 = G1/8"  Mih(Double Sides): ®8.2/5(Thread):M6x 1.04&FL(Through ports): @46 16 55 6 44 34 = 215 12 10 18.3
40 35 32 4 3 25 19 8 M14X15 28 2.8 16 14 40 = G1/8"  M:ih(Double Sides): ® 10/F(Thread):M8x 1 254@FL(Through ports): ®6.5 20 75 65 52 40 < 225 16 14 213
50 37 33 5 4 25 27 1 M18x1.5 38 28 20 17 50 = G1/4"  Mh(Double Sides): @ 11/F(Thread):M8x 1.254@ FL(Through ports): @65 25 | 85 | 95 62 48 - 415 20 17 30
63 37 33 5 4 25 27 1 M18x1.5 40 28 20 17 63 = G1/4"  Mh(Double Sides): @ 11/F(Thread):M8x 1.254@ FL(Through ports): @65 25 | 85 | 95 75 60 - 1314520 | 17 |28.7
80 44 39 6 5 30 32 13 M22x1.5 45 4 25 22 80 . G3/8"  Mih(Double Sides): ®14/5(Thread):M12x 1.754@F(Throughports): 9.2~ 25 | 10.5 10 94 74 . 365 25 22 36
100 50 45 7 5 35 36 13 M26x1.5 55 4 32 27 100 - G3/8"  MWin(Double Sides) ®17.5/F(Thread):M14 x 2/&FL(Throughports)®11.3 30 | 13 | 10 114 90 - 365 32 27 35

095 096




SDa sris . \LDPC"  sonseres . ALDPC"

Thin Type(Compact) Cylinder Thin Type(Compact) Cylinder

I 5MER-H/Overall Dimension I 52 R~F/Overall Dimension

SSA.SSAS #!/Type $12-4 16 SSA.SSAS &I /Type ¢ 20- ¢ 40 A+FI2(Stroke) x 2
B C+{T12(Stroke) B1+{712(Stroke
M P3 P3 | F+i7#2(Stroke
A i7#8(Stroke) w | P4, P4 M w
- §1 C+i7#8(Stroke) D T :
A}':}(Z('QZZQ) s P3 P3 TS1 2RueshieRanf | = H‘“ ________ {/ 25ido Sreadth
Fl ps P3 T P4 P4 R SDAD.SDADS &/Type 7 1
j> w . Pl
" P4 P4 W] M, 412~ 16 = ?I ________ i@é _______ 4
; e s | SEL @ | = ux4s [ @ _@ _______ s
L il 5 /A | |
-3 "l °/’?\\ a 8 > _@ /A [ ‘ \ el =
zi NaI 2-P1 ] \3\ y 59?—' ]l ~Jo  4P1 8 g‘// 3} I = 21 Lt |
& | s o
| ‘ A\ o 2D o - :
G |[NT] O/ [N Do E & NT] N7 K1R(OE -
JE_._.G_ L
e . i :
s R
T1 B
| I R— |
Ux45 @ "_’:1—"
,,,,,,, 2=
SDAD.SDADS &#/Type K 5
STA.STAS &/Type ¢ 12- ¢ 16 STA.STAS #!/Type ¢ 20- ¢ 40 $20~4 100 o
w
25ideBreadth 25idaBreadih
ide sbrea Z9lde sbrea
A#i789(Stroke) x2 s D Nt \20 | N1 f]F+T#(Stroke)
B, O] 18] B+ (St Ak“ﬂf(é:ioki)(gjok») S e :
P P3 W e S IR| Bi|  CHilE(Stoke) B +7 12(Stroke) T KIR(Depth) E
M |IP4 P4 ¥i M 23 [ w AT (Stroke) <2
U X 45° = G2y =1 I — e
-° N
°E>i = - -
S ' sha 5 I R~ /Dimension Sheet

B
-
222

®
[

=
| N1

[
al : & \ : FrfER) o 1
— N1 O N1 K1:EDepth) £ & / — c||N1] \_o_ K1&(Depth) £ Attach Magnet =
BN REIEIENED | .
Bore Size/Symbol
12 27 5 17 <74 5 27 - 6 4 1 M3x05 102 28 6.3
16 295 55 18.5 395 55 285 - 6 4 1.5 M3x05 1 28 73
20 305 55 19.5 405 55 295 36 8172 (Stroke)=5 K A (itis)6.5 4 1.5 M4 X 0.7 15 28 75
I R#%/DimenSion Sheet 25 33 6 21 43 6 31 42 10{7%(Stroke)=5 Fih(ts)7 4 2 M5x08 17 28 8
32 38.5 7 245 485 if 345 50 8 12 4 3 M6 1 22 28 9
A5/ Type trERL/Standard Type BffHi 14 /Attach magnet ’ 40 40 7 28 50 7 36 585 9 12 4 3 M8x125 28 | 28 10
K1 M 50 46 9 28 56 9 38 718 1 15 5 4 M10x1.5 38 28 105
63 50 9 32 60 9 42 84.5 1 15 5 4 M10x1.5 40 28 118
12 32 42 5 27 37 42 52 5 37 47 - 6 4 1 M3x05 102 28 @ 63 80 63 1" 41 73 1" 51 104 14 20 6 5 M14x15 45 4 145
16 34 44 55 | 285 | 385 44 54 55 38.5 485 - 6 4 1.5 M3x0.5 11 28 43 100 124 7 5 M18x1.5 205
20 35 45 55 295 395 45 55 55 395 495 36 8 4 15 M4x07 16 28 75 Bor?éﬁgg?m n n_ﬂ..-.
25 37 47 6 34 41 47 57 6 41 51 42 10 4 2 M5x0.8 17 28 8
32 415 515 7 345 445 515 615 7 445 545 50 12 4 3 M6 x 1 2 28 9 12 8 | MER.E| SR Sl oM T 2 18] &0 4
40 585 2 B 95 16 6.5 M5x0.8 iA(Double Sides) 6 5/5F(Thread)M5x0.8/#7L(Through portsy42 | 12 4.5 - 29 198 28 16 6 5 -
HEGE 20 - M5X0.8 Mif(Double Sides): &6 .5/ (Thread)M5 <0 8/#FL(Through ports): 4.2 = 14 = 4.5 2 34 24 - 2.4 8 6 11.3
Bore Size/Symboal -n_. P4 .... 25 - M5X0.8 Mif(Double Sides):d 8.2/ (Thread)M6 X 1.0/4#FL(Through ports): 46 = 15 = 5.5 2 40 28 - 31 10 8 12
12 M5 X 0.8  Xh(Double Sides) ©6 5/ (Thread): M5 x 0 84%7L(Thraugh ports) ©4.2 162 23 32 - | G1/8" | Wih(Double Sides):®8 2/F(Thread)M8 < 1 0AEFL(Through ports) @46 | 16 55 6 44 | 34 - 215 12 10 183
16 6.5 | M5x0.8 M#(Double Sides): 6 5/5F (Thread):M5 X 0.8487L(Through ports) 4.2 12 | 4.5 i 29 198 28 16 6 5 s e 40 - G1/8" | Mi(Double Sides) & 10/5(Thread)M8 < 1 25/&FL(Through parts) @65 = 20 7.6 65 52 @ 40 - |[225| 16 | 14 [21.3
20 - M5 0.8 Xifi(Double Sides): ©6 5/5F (Thread):M5 < 0 84 FL(Through ports) ®4.2 14 | 4.5 2 34 24 = 2:1 8 6 11.3 10 50 - G1/4" | Wih(Double Sides). ©11/5 (Thread):M8 <1 2548 FL(Through portsy ®65 | 25 85 95 62 48 - 415 20 17 30
25 - M5 X 0.8 Xif(Double Sides): 98 2/3F (Thread):M5 X 1 0EFL(Through ports) ®46 15 | 5.5 %) 40 28 - 3.1 10 8 12 10 63 - G1/4" | Mih(Double Sides). ®11/5F (Thread):M8 <1 2548 FL(Through portsy ®65 | 25 85 95 75 60 - |315| 20 | 17 |28.7
32 & G1/8"  M&(Double Sides): »8.2/7F (Thread):M6 < 1 04%FL(Through portsy #4565 16 | 5.5 6 44 34 a 215 12 10 183 15 80 - G3/8" | Mik(Double Sides): @ 14/5F(Thread)M 12 < 1. 7548 FL(Through ports): @92 = 25 105 10 @ 94 @ 74 - |365| 25 | 22 | 36
40 - G1/8"  Mih(Double Sides): 10/3F (Thread):M8 X 1 25A#FL(Through ports) 65 20 | 75 6.5 52 | 40 - 225 16 14 213 16 100 - G3/8" | Mih(Double Sides) 17 5/2F(Thread):M 14 < 2/i#FL(Through ports): 113 | 30 13 10 | 114 90 - [3.65| 32 | 27 | 36

097 098




SDA Series | \LDPC® CQ2 Series | L\\LDPC®

Thin Type(Compact) Cylinder Compact Cylinder

I 5MEERSH/Overall Dimension

A+{712(Stroke) x 2+ FT{B4TFE(Adjust Stroke)

C+i7#2(Stroke) —l s
M, P3 P3| i712(Stroke) Q+FTB4THE[Adjust Stroke)
_w ||y Pl 1L il
20
(2Side'sBreadth) F— v H
o T ) (G [ il Ux45° ]
SDAJ.SDAJS &/Type L N
$12~416 Lzl I 3
N ___._.@_T 3
N1 2-0 N1
_E:.Q,
D A3 -
es eo I iTH%5/Ordering Code
M P4 P4
e -
e — -F1--} _Ux45 /)
= /.
3 "‘@ ....... ,,‘,,_,)}v O o -
°
SDAJ.SDAJS &/Type f ‘ = -
$S20~¢ 100 A 1 RIS Rk AKgE 1772 H;E H 5 (fEi%)
w S| T— / - 5 caz: AR B: E?L Bz ®12-»50mm: Stroke D:XW & % [ :#im R L
L] e CDQ2: N B IAE AR AR MW P 12-D100mm 0~100mm S BEHEEE) M: A5 R AL
128idzisBipadth] . R [— Series Code Mounting Style Cylinder Bore THHEREEL) CHRRREE
||l 20 N1, | | 748 (Stroke) | Q+ATIFH(Adjust Stroke) CQ2:Normal Type B:with through bore Single action: ®12-®50mm Action Cylinder body (optional)
LG G,l| CDQ2:Attach magnet Type Awwith female Double action: ®12-®100mm D:double action Blank:Inner Thread Type
B1 C+{T#2(Stroke) thread on both ends S:single action(with spring return) M:Thread outer Type
A+iT2(Stroke) x 2+ ATYH712 (Adjust Stroke) T:single action(with spring extent) C:With cushion

I R-t%/Dimension Sheet I ##&/Specifcation
e et Py %/Bore(mm)

Standard type |  Attach Magnet

N1 T{EB/Working Medium Z= S IAIr
| #F{ETI K /Motion Pattern BE REERAEEEYE Double action/Single Action Extrusion type/Single Action Drawing-in Type
12 22 5 17 32 5 27 - 6 4 1 M3x05 102 28 63 {F3E i /& S1/Ensured Pressure Resistance 15.3kgflem?(1.5Mpa)
16 24 55 185 34 55 285 - 6 4 15 M3x05 11 28 73 5 2 (& JE /1/Max pressure 10.2kgffem?(1.0Mpa)
20 25 55 19.5 35 5.5 295 36 8 4 15 M4x07 15 | 28 | 75 FREE FOEAGR B /Environment and fluid temp 5~+60°C
25 27 6 21 37 6 31 42 10 4 2 M5x0.8 17 28 8 #im 24 /Thread Type RRLL (R ) SR (1) Inner Thread(Standard)/Outer Thread(Optional)
32 N5 7 245 415 7 345 50 12 4 3 M6 % 1 2 28 9 41 /Buffering FINO
40 33 7 26 43 7 36 585 12 4 3 M8x125 28 28 10 1712 24 %/Margin of Stroke Error(mm) +10-0
50 37 9 28 47 9 38 715 15 5 4 M10x15 38 28 105 %2 %% [Installation B FL (FRE)/ P AE A2 4L (11%) Through Hole (Standard), Inner size on the two sides(Optional)
63 41 9 32 51 9 42 845 15 5 4 M10x1.5 40 28 118 }EE 12 /Port size M5x0.8 G1/8" G1/4" G3/8"
80 52 1 41 62 1 51 104 15 20 6 5 M14 1.5 45 4 145 e ] . . e .
55 = = ot = AR 05 W B2 HSEARA LUINEEREE M . Note:Pls Confirm Single Type Can't With Cushion.
e
oot Lo 12 ﬂlll
12 6 M5x0.8 ih(Double Sides): ®6.5/3F (Thread)M5 < 0 84#FL(Through ports) 4.2 12 4.5 162 23 5
16 6.5 M5x0.8  Mik(Double Sides): 6.5/ (Thread)M5< 08487, (Through ports) @42 12 45 - 29 198 28 16 6 5 - -
20 - M5X0.8  Mih(Double Sides) 6.5/ (Thread):M5 % 0.84&7L(Through ports): 4.2 14 45 2 34 24 - 21 8 6 113 10
25 - M5X0.8  MihDouble Sides). ©6.5/F(Thread):M6 < 1.0/EFL(Through ports): @46 15 |55 2 40 28 - 31 10 8 12 | 10
32 - G1/8" Wia(Double Sides): 6.5/ (Thread):M6 < 1.0487L(Through ports): @46 16 ' 55 6 44 34 - 215 12 10 [ 183 | 15
40 - G1/8" WA (Double Sides): d6.5/3F (Thread):M8 X 1.25/%7L(Through ports) ®65 20 75 65 52 40 - 225 16 14 213 16
50 - G1/4" Fifi(Double Sides): ©6.5/7F (Thread):M8 < 1.25/i#FL(Through ports) © 6.5 25 85 95 62 48 - 415 20 17 30 20
63 - G1/4" Wit (Double Sides): #6.5/7F (Thread):M8 < 1.25/4#F(Through ports) ®65 25 85 95 75 60 - 315 20 17 287 20
80 - G3/8" Fif(Double Sides): ©6 5/5 (Thread):M 12 X 1. 7548 FL(Through ports): @92 25 105 10 94 74 - |365| 256 | 22 | 36 | 26
100 - G3/8" Wik (Double Sides): ©6 5/5F(Thread )M 12X 1.75/&FL(Through portsy ©11.3 30 | 13 | 10 114 90 - |365| 32| 27 | 35 | 26

099 100




CQ2 Series | \LDPC® CQ2 Series | L\\LDPC®

Compact Cylinder Compact Cylinder

I $MER-FH/Overall Dimension I 5MER-SF/Overall Dimension

#F. %% B (Through Hole Type)/CQ2B #5ll/Series HgGRC CDQ2B %5l/Series

(H Thread effective depth C) 4- ¢ NiiFL(Through)
& 8-¢ OFmH 7L (Counterbore) F
¥ $12~$25 0

HER 4L RC (H Thread $32~¢100 HiBg 3

: e e Pt RC
E :Ttwe ept %%’élg%(;;rﬁl{{gh) . /‘é% o ) aﬁsin,—ulxﬁlfgd#ﬁe D i adiisdo) E’%ﬁcﬁﬁ“cm H Thread effective depth C) 2-PO%(Port size)
22 0% 4- ¢ NiFL (Through)
(Port Hegar iRC nroug Q F,
P sze) o HThr=ad sffective depth C) ﬂ N 0 8¢ OF R Al(Counterhore)  [* .
o B £ ? :
o r (Minimum lead wire bending )
$12~ 25 T o J $32~6100 O @ N S T
=
I
5 5 ; 1
* NO @
©

j awﬁﬁIRTriE Dimension Sheet(DoubIe Action) S£/Note 2) 4312 (Long Stroke) /\ zovmnmey | | T =
<L

K (Counterbore) ;
\ M Q
B/ | TR E L G A L 45 .
A= Stroke ran e DdD (6] (@) ) =75 - B+7#2(Stroke) i | BHTIE(Stroks)
ki HII..I i oo ‘ Model| () b RRR T \ams, o

A

CQ2B12-01D 174t 6 25 5 M3X05 5 35/155 35 65F/depth 35  M5x0.8 32 75100 33 75 105
CQ2B16-[]D  5~30  1854st 8 29 55 M4x07 8 38 - 6 35 20 35 65Fdepth35 M5x<08 8 - 10 40 75100 395 8 18 11 l i!i’]ﬁ,ﬂR#% Dimension Sheet(DoubIe Action)
CQ2B20-C1D  5~50  195+4st 10 36 55 M5x08 7 47 - 8 4525555 9ifkdepth7 M5x08 9 - 10 50 75,100 405 105 1/4 105
5 R - R E1)iTi2SEE
CQ2B25-[1D 550  2254st 12 40 55 M6X10 12 52 10 5 28 55 9iFkdepth7  M5x0.8 11 10 63 75100 46 105 1/4 15 HE /Model | ‘Stroke range oD - ol ON ®0 s |lu
CQ2B32-0JD i 2345t 16 45 o MEX125 13 60 45 14 7 34 55 9meptn7 o o "Ougs 1 EL_| it oG ed) R | <16 —

g — s 7o & : S s 105 100 75100 63 13 358 23 CDQ2B12 530 315 28 6 32 65 M3x05 35 22 35 65Fdeph35 M5x08 11 355 195
CQ2B40-(1D 5~50 295+st 16 52 8 MS8X125 13 69 5 14 7 40 55 9§§/d9p1h7 1/8 11 57 18 St=ﬁ$i(Stroke) CDQ2B16 5~30 34 305 8 38 55 M4x07 8 - = 6 35|28 |35 6.5;7r<ldepth3.5 M5X08 10 415 225 29 -
CQ2B50-0JD  10~50  305+st 20 64 10.5M10X15 15 86 7 17 8 50 6.6 11:5/depth8 14 105 71 22 CDQ2B20 5~50 36 315 10 468 55 M5x08 7 - - 8 45 36 55 O9F/depth7 M5x08 105 48 245 36 -
CQ2B63-[1D  10~50  36+st 20 77 10.5M10x15 15 103 7 17 8 60 9 14F/epth105  1/4 15 84 22 CDQ2B25 5~50 375 325 12 52 55 M6xX10 12 - - 10 5 40 55 9F/depth7 M5x08 11 535275 40 -
CQ2B80-CID  10~50  435+st 25 98 125 M16xX20 21 132 6 22 10 77 11 175FAdepth135 3/8 16 104 26 CDQ2B32 5~50 40 33 16 45 75 M8x1.25 13 60 45 14 7 34 55 9/depth7 1/8 105585 315 - 18
CQ2B100-(1D 10~50 53+st 30 117 13 M20X25 27 156 6.5 27 12 94 11 17.535“Jdepth13.5 3/8 23 1235 26 CDQ2B40 5~50 465 395 16 52 8 M8x1.25 13 69 5 14 7 40 55 95?/depth7 18 1 66 35 S 18

1) AT IR R S5mmiafE. Note 1)The standard stroke is at a distance of each 5 mm. CDQ2B50 10~50 485 405 20 64 105 M10x15 15 8 7 17 8 50 6.6 11;7/depth8 174 105 80 41 - 22

i£2) {7424 65mm & 100mm_Z [8]# 7 817 72(55,60,65,70,80,85,90,95), 1i5,10,15520mm/E A9 24R - CDQ2B63 10~50 54 46 20 77 105 M10x15 15 103 7 17 8 60 9 14F/depth105 1/4 15 93 475 - 22

Note 2)The stroke between 55mm-100mm(55,60,65,70,80,85,90,95,)need to be added thickness of 5,10,15 or 20mm pad. =

SE3) AR ASIEE, i FLA)S AR <0 P MR AT R B S e R SR i R T CDQ2B80 10~50 635 535 25 98 125 M16x2.0 21 132 6 22 10 77 11 175F/depth135 3/8 16 1125575 - 26
12 94 11 175F/depth 135  3/8 23 1325675 - 26

I iﬁlﬂ‘]ﬁ.ﬁlRﬂ'ﬁ / Dimension Sheet(SingIe Action) CDQ2B100 10~50 75 63 30 117 13 M20x25 27 156 65 27

) IIE-IIIIIII- Trslon | TR
#I=/Model (3] ®ON dO Z SE4) feEiojoE =
J JE) FRETIERE5mmiER.
Sst 105t ‘ 20st | 5st |10st | &= TE@mm)| A | B ’ F ﬂn Note 1)The standard stroke is at a distance of each 5 mm.

cQ2B12-01S M3x 0.5 35 155 35 65F/depth35 M5x08 - 7575 - - Model £2) 1712 555mmZ 100mmz 8] & 7 (8] 1742(55,60,65,70,80,85,90,95), /1n5,10,15520mm/E B934 47 .
CQ2B16-0S 235 285 - 8 29 55 55 M4x0.7 8 ag - 6 35 20 35 657/depth35 M5x0.8 " 8 8 - 10 32 75,100 40 33 75 1/8 105 NotzeOZ)The sgoke between 55mm-100mm(55,60,65,70,80,85,90,95,)need to be added thickness of 5,10,15
. . or 20mm pad.
CQ2B20-[1S 245 295 - 10 36 55 55 M5x08 7 @47 8 45 255 55 QF/depth7 M5x0.8 - 9 9 - 10 40 75100 465 395 8 1/8 11 $E3) RAEA4E IR B LB S ATR <R FIE MRS AT R < 2 — A
CQ2B25-[(]JS 275 325 - 12 40 55 55 M6x1.0 12 52 -~ 10 5 28 55 OF/depth7 M5x0.8 « (49 |41 | = | 10 50 75,100 485 405 105 1/4 105 Note 3)External dimensions with rumper are same as stsndard type as shown above.
b = y iE4) BmmiTIEE S RER K — MM XK.
CQ2B32-[JS 28 33 - 16 45 55 75 M8x125 13 60 14 7 34 55 9R/depth7 Mex0s 1/8 £ |M5]10.5)405) 18 b 5100 Be | M9t PIES) 1 | 5 Note 4)The stroke of cylinder in 5 mm can be fixed only one magnetism swith
CQ2B40-(]S 345 395 - 16 52 8 8 M8x125 13 69 ° 14 7 40 55 9F/depth7 118 - 11 11 57 18 80 75100 635 535 125 3/8 16
CQ2B50-]S - 405 505 20 64 105 105 M10x15 15 86 ' 17 8 50 6.6 11R/depth8 - 1/4 105105 71 | 22 100 75100 75 63 13 3/8 23
EBF MR Thread outer Type S=tT(Stoke) E3)7 i P B 1 ¥F 88 N8R 5/
i i [ 4R 4 i JMR &
EEIMRY E3) M im AR BHREEY Note3)Inner Thread Type Thread outer type
Thread outer Type Note3)Inner Thread Type  Single Action (with Spring extent) reezy) Y]
: ﬂ:BI;;:e (l) &BIO?:; ﬁI?é o) nﬂ Bore .-.l
- (mm) (mm) 10st 20st | 5st |105t PR AR 4 /Inner Thread Type o FroR oM R Ll
CDQ2A 12 M4x0.7 7 Thread outer type 12 10.5 M5x0.8
758 4R E M Inner Thread Type) /CQ2A 12 105 M5 % 0.8 12 M4x07 12 305 405 - 135 - = T
X0. xX1. 2
O-8r(Thread) &Nl fL(Through) 16 10 12 8 M6x10 155 6 16 M4x07 7 16 32 42 - 85 |135| - Meroel ¥ L 2 | MEI0 15e) 8
20 |12 | 14 | 10 M8x125185 8 20 M6x10 10 20 34 44 - 95 145 - o-#85 AT 20 | Mo | 0 20 |fe| | 10 [MBxlob 1R8] B
(Threag) 25 | M6x1.0 10 ﬁ\ 25 15 175 12 M10x1.25225 10
[ 25 15 | 175| 12 M10X1.25225| 10 25 M6x1.0 10 25 375 475 - 10 15 - — 32 of 32
X1, : 9 : : X1 :
JB?:ﬂ?(StrGIEY 32 205235 16 M14x15 285 14 32 M6x10 10 32 40 50 - 12 17 - O e, 0 J S NI e
40 M6X1.0 10 __C_J 40 205 235 16 M14x15 285 14
B/ E 40 205 235 16 M14x15 285 14 40 M6x10 10 40 465 565 - 12 17 - ’ o =t 52 7 X o PP e [T e e
5 - . " % Rl X1 R i X 1. 4
SingleAction (withSpringextent) 912-950 50 26 285 20 M18x15335 17 50 M8x125 14 50 - 585 785 - 18 28 SiESiE 20 - &
e X 5 xX1. 4
EZ 63 26 | 285| 20 (M18x1.5|335| 17 63 M10x15 18 ‘BRAEBFAIERR, IBFLRVSEL R0 M AR = e &3 e Bh B s TR IR
80 325 355 25 M22x15 435 22 80 M12x175 22 ,SUUELRAE—H. 80 Mty e b PeE T nl @ \Mee (5148 e
I External dimensions with rumper are same as 100 M12x1.75 22 100 325 355 30 M26x15 435 27
L 100 /325 355 30 |[M26Xx15 435 27 100 M12x1.75 22 stsndard type as shown above.

101 102




CJP Series
Needle Cylinder

TN Series Double-

\LDPC" ALDPC"

1T %5 /Ordering Code

ERC RN

SO “
Lot ZIIRE AR 1752 gl
[ \ W) CJPB TR LA Cylinder Bore Stroke =HHR
‘J g CUPS: WAL 6-dEmm 0~20mm B.R4RLL
2 Series Code 10-< 10mm Thread Type
‘ CJPB Panel 15-d15mm Blank:With Thread
mount Type B:No. Thead
CJPB10-15 CJPS:Invisible Type
I #1#&/Specifcation
42 /Bore(mm) 6 ] 10 \ 15
T &4 B/Working Medium S /AIr
H1EZL/Motion Pattern /% 5 (3% % [2]) Double action / Single Action(Drawing-in Type)
{RIEM} & J1/Ensured Pressure Resistance 10.5kgf/em*(1.05Mpa)
S 1ERE f1/Max.pressure 7kgflem®(0.7Mpa)
= {K1E A E 71 /Min pressure 2kgflem®(0.2Mpa) 1.5kgf/cm’(0.15Mpa)
1§ AR E 6 'C/Operating Temperature Range 5~+60°C
£ i /Buffering F NO
Margin of Stroke Error(mm) e
EE O{ZE/Port size M5 X 0.8(FHR %4 &//Panel mount Type )
I 5pER~H/Overall Dimension
037, i
ExhaustPort 172 (Bore) ¢ 6:C0.5 Riki M5%08
. $10,15:C1 ‘\ o=
{0 o of I . = ? o i
Panel Mounting Style \Wy// I e
ERE#ECIPB N !
N i
W K
A F T E
R T i To 4R 8U1F R H s
B with rod end thread z

St=1T#2(Stroke)

F11&/ e N
Bore(m)
6

13.9 125/ 195|265 | 85
10 10 | 19 | 22 | 6 | 145| 21 28 12 12 35
15 12 1 27 | 31| 7 |165/225| 29 | 19 | 14 | 42

I 4$MEZR-F/Overall Dimension

Exnaust Port

- o
o &0 \Z
(Plug Mounting Style)CJPS > 2
\/

7/
Eloe il .H..E 10st] 15st] ..

13.9 125/ 195|265 | 85
10 10 19 | 22 6 145 21 28 | 12 | 12 | 35
15 12 | 27 | 31 7 165 225 29 19 14 42

103

M3x0.5 M10><1 0

1856 225 325 3 275 345 415 3
M4x0.7 M156x15 13 205 27 34 4 |325 | 39 46 5
M5x08 M22x15 20 235 295 36 5 |375 435 | 50 6

#17%(Bore) $6:C0.5 e
$10,15.C1 MM \

o | W
< — [G]
H
W, LK
i T A2 15 0R A E——ef
with rod end thread z

[10st [15st | 5st |10st [15st

M3xX05 M10x1.0 9 185 225 325 3 275 (345 |415 3
M4x0.7 M15x15 13 205 27 34 4 325 39 46 5
M5xX08 M22x15 20 235 | 295 36 5 375 (435 50 6

Shaft Cylinder

I iTH%8/Ordering Code

T

RIS H12 1T MAERS

X & BEL Cylinder Bore Stroke ZE PR
Series Code D 10~-Dd32mm SN B IAE
Double-Shalf Magnet Code

Double Action Type Blank:Without Magnet

S:Attach Magnet

I #1#&/Specifcation

FMEEI/Motion Pattern £ #1%/Double action

T &4y B/Working Medium z= S/Air

{$ F /& /156 Bl /Operating Voltage Range 1~9kgflcm?®

{RIEMEE 1/Ensured Pressure Resistance 10.5kgf/lcm?

1§ F ;B SE Rl ‘C/Operating Temperature Range -5~470C

1 Fi 3% £ 3 [l /Operating Speed Range 100~500mm/s

% 1Ti2/Adjustable Stroke 100min

2ZZ A /Cushion Type AT 4% # /Adjustable Cushion

R [El4EFEE /Non-rotating Precision 04T 0.3C

&% O12/Port Size M5 0.8 G1/8"

I 5MERSF/Overall Dimension

$10 TN & 5 /Series

A+{712(Stroke)
B C+i72(Stroke)
15 D+0.2+74E(Stroke)
17 - I#FL(Thruhole):2-4 3.4
16 54T12(Stroke)7 E+0.2 iA(Both sides): @ 6
#(dp)6.2B EFL(Mouting hale
5 5»@(}& (dp) ( g ‘)
(2-Sides), 20 10
7
@) O —===4 =
© [ [
o o
e K 5 O & 5 ‘? ~~~~~~~~~~ P--
& &
gg: 2-M5 X 0.88% % 42 (Post size)
b4 /V v

i@FL(Thru.hole):2- ¢ 3.4
WiABoath sides): ¢ 6
#(dp)3.3EEFL(Mouting hole)

2-M3x0.5 M/
I R-F¥%*/Dimension Sheet

ﬁl?é/ Bore size =

30 30 35 40 45 50

104




TN Series Double-
Shaft Cylinder

\LdrC”

I 5MER-St/Overall Dimension

$16~$25 TN %3l / Series

CXS Series Double-
Shaft Cylinder

ALDPC”

I iTH%5/Ordering Code

LT T

A+iTH2(Stroke)
B C+{T72(Stroke)
15 D+0.2+4742(Stroke)
i
] F H E+0.2 2-PIBETL
™ (Mouting hale)
WA
< i (2-Sides) 12\ )
N N2
i
5 o o |
PA] Y Y 2 a
+H Ty + WU . U -
2 7 1o © @ 3 ¢ ®
© 21 \2usx0sEnEPost size)
. @
2M4x0.7

2-P2[E EFL(Mouting hole)

I R-F3%/Dimension Sheet
ff/Bore size | n ’ . I
| 10 [ 20 [ 30| 40 | 50 [ 60| 70 ] 80 | 90 | 100 | 125 | 150 ‘
16 68 15 40 55 0 75 8 47 6 24

63 | 20| 30 35 45 50 6f 65 70 87.5 100
20 78 20 58 20 35 35 40 45 50 556 60 65 70 75 875 100 10 55 9 28
25 81 19 62 30 40 40 45 50 55 60 65 70 75 80 925 105 10 66 8 34
5172/ B Bore size/ltem | J N2| P1 P2 Q[R[S|T|V|wW]
16 M4x0.7&ldp5 47 53 20 22 11 Wih(Both sides): & 7.5:(dp) 7.2mm | FA(Both sides): $87F(dp) 4 4mm 34 3 B4 21 8 61

i@FL(Thruhole): ®4.5 HBFL(Thru hole): ¢4.5

7 Wif(Both sides): ¢ 7.57%(dp) 7.2mm | A (Both sides): ®83R(dp) 4 4mm
20 M4 X 0.73®//dp5 55 61 24 25 12 SEIL(Thru hole). 4.5 S@FL(Thru hole). 4.5 44 35 62 25 10 8.1

25 M4x0.7RIdp 6 66 72 29 27 12 Mil(Bothsides) &757(dp)7.2mm  Xih(Both sides) ¢8R(dp)44mm 56 7 73 30 12 10.2
i®FL(Thruhole): ®4.5 i@FL(Thru hole): ®4 5

I 5MEERSH/Overall Dimension

$32TN %3l / Series

A+{T12(Stroke)
B C+{712(Stroke)
7 D+0.2+{7#2(Strol IBFL(Thruhole):2- $ 5.5
40 1 HIR(Stoke) Wis(Both sides): &9
38 17 13 E+0.2 A (dp)13.2EEFL(Mouting hole)
L it I L L L AL
14130
el (2-Sides)
3 © 14
= o o™ ~ l
D= @ 5 o
A I O & 7 ? ,,,,,,,,,,, B--e-
= = @
® =
© R} 2PTY/8 {EE 12 (Post size)
- ad
j@7L(Thruhole)2-& 5.5
2-M6x1

Wi (Both sides): ¢ 9

2-MBX 1. 255R(dp)10 A(dp)5 AE EFL(Mouting hole)

I R-F3%/Dimension Sheet

FI1%/ Bore size " H-

(|| iB;
5 B/item ‘
108 30 78 35

20 | 30 | 40 | 50 ] 60 | 70 | 80 | 90 | 100 | 125 | 150
50 55 60 65 70 75 80 85 90

1025 115

105

RIS HhRF ik 1712
P ERIREL M:iE B4R Cylinder Bore Stroke
Series Code LBk S e 4R B-dBmm 0~100mm
CXS:Attach Type of Bearing 10-®10mm
magnet Type M:Slide Bearing Type 16-® 16mm
L:Ball Guide Bearing Type 20-420mm
25-®25mm

32-®32mm
I ##/Specifcation
) “_ 0 | 15 20 25 32

T &4 B/Working Medium z3 5 IAir

N {EE/Motion Pattern E#%/Double action
{RIEMIE 71 /Ensured Pressure Resistance 1.05Mpa(10.7kgflem’)
& =% B E 51/Max.pressure 0.7Mpa(7.1kgflcm’)
=IR{EAE 1/Min pressure 0.15Mpa(1 5kgflent) 0.1Mpa(1.0kgflen’)

1§ AR E 5 Bl C/Operating Temperature Range 5~+60°C

0.05Mpa(0.51kgflcm’)

22 h/Buffering ik A% 2 %/Both ends buffer

“5HJ/Structare WA EL(F 15 51)/Double Power

17294556 Bl /Stroke Adjustable Range 45 [E11742/(Return Stroke)0~5mm

4h&/Bearing B oAk ARk S E4M& Slide Bearing/Ball Guide Bearing

'ﬁﬁrﬁﬁfjﬂoﬁg 18 Bhih & /Slide Bearing +0.1 +0.15 +0.13 +0.11 +0.1 +0.08
Piston rod Non-rotating iR Ek 5 [c14#17&% /Ball Guide Bearing +0.1 +0.1 +0.07 +0.06 +0.05 +0.04

¥ O12/Port size M5<0.8 G1/8"

I 5MEERSH/Overall Dimension

$ 6 CXS &5l /Series

2-$3.4i@7L(Through-hole)

58 5+{712(Stroke) 2- b6 SFRYTILA

55| 8 45+4712(Stroke) _(Counterbore depth)3.3
16 e H(OUT) o6,
e SKosXSIHARLGRE 215 13 10+124792(Stroke) J—\ . 3
e (Hexagon socket head set screw)
- o =
i) Ja Y
o | \\J
ol S Sl B (e 5 e =
™| o) ) ol @
4 & g O @ o I
- TN e
@ @ \Y
X
M2.5 X 0.45 X 6L 7~ sk 85T : A\ - .
(Hexagon socket headcap screw) ersu: Ur{-sn%? M3X05%12.5RM3%0.5 i (2[\/1;2E?ﬁﬁiﬁl‘ﬁ(throer%o:ﬁepth)d.s
1 P75 K B4T/7% FeR ) o S NEE ping p

2-M3x 0587
(Through-hole)

(Hexagon bolt)/(Hexagon nut)

(13) 10+1/24712(Stroke)

2-M3 X 0.588407 thread depth) o
10 13+i742(Stroke) 4 54833 48 [ (Opposite Side:same)
—
) @ J/ [(@)] (@)
" %\ 23 082407 thread depth) 4.5 B D)
(Piping port)t833 @485 (Opposite Side:same) o4
25 11 b
I R~ /Dimension Sheet
S /Model 1T#2/Stroke 10+1/247#2/Stroke 13+1T#2/Stroke 45+1T#2/Stroke 58.5+1712/Stroke
CXs[l6-10 10 15 23 68.5
CXS[J6-20 20 20 33 65 78.5
CXS[J6-30 30 25 43 75 88.5
CXS[J6-40 40 30 53 85 95.5
CXS[J6-50 50 35 63 95 108.5
106




\WLDPC™  cusers ALDPC”

Free Installation Cylinder

I 5MER-St/Overall Dimension

CXS ¢$10-15-20-32

| s 7z
J K SS
8 Y(R A iR E) i
= ) Hexagon socket head set screw) | e z /_
ja g
© / A} g z g
=~ 2 g o
g o g T g g
< 5 5 { © @ o N/ A 4 5
o o | &3 8 c)’v
X : D 2
o) R, o z
X P75 54857 ! N g rgn
~ (Hexagon socket e ?
£ \L headcap screw) l/& 00 A7 fit £1(Hexagon bolt) & ) [
et PP7< 4% £ (Hexagon nut) |
O(FiniNg) < [
o) " g
CXS $10-15 CXS ¢20-32 0 ) L > =
’ ’ I iT#%3/Ordering Code
(5] @ v w (8] @ Ay v
% |
1 1
e o = d 5 p | o) = — g
g ol g] g qx ; ?a 1" l o G
R LYl R w LLL
- %ﬁg’i%’] wasﬁ J g i) BiE
- - CU:EAR =1 HAR Cylinder Bore Stroke D: W&
I R-F3%*/Dimension Sheet COU PmER I KR AR AT s gl S B HAHER)
.E. ‘ ‘ Series Code Kinds 10-®10mm TEEHHEEEL)
#2/Model . . (o = - - - - - M N NN | O 00 n CU:Normal Type Blank:Normal Type 16-P16mm Action
. . CDU:Attach K:Non-Rotating 20-®20mm D:Double action
2- 03 4j@FLAhrough e : 2 i i i
CXS[]10-10 A 2-M3 % 0 582507 E/ magnet Type piston rod Type 25-®25mm S:Single Action Spring
poRodoso | 46 17 44 15 75 2-M4x0.7 35 20 4 8 9 20 Cozdr;be‘iifoiﬁé;ﬁés lhreaddepm; ®6 5 M4x0.7x14.5L 33.6 32-®32mm %)gW'Tg_AntTypeS
z :Single Action Spring
2- 04 .3jEFLAhrough e Extusion Type
CXS[J15-10 ks 2-M4 X 0. 74250 R &/
120/30/40/50 58 20 56 18 9 2-M5x0.8 45 25 5 10 9 30 Coﬂsgﬁgﬁﬁéu ,hreaddep‘hs“ ®8 6 M4x0.7x14.5L 48
2-®5.5j&FLhrough . H 1
CXS[120-10/20/ LAk 2-M4 X 0. 742507/ I
3040507500 | 64 25 62 23115 2-M5x0.8 50 28 6 12 12 30 Coin?e?foﬂt}ég;ﬁlss thread depth 6 ©10 8 M6x1.0x18.5L 53 iﬂ#ﬁ/Spemfcatlon
2-06.9j&FLAhrough e 42
;;(/555205;'7153%% 80 30 78 28 14 2-M6X1.0 60 35 6 12 12 30  2-OMMGRE/ z'mrf’ezg'g:gfﬁ'ff’ ®12 10 M6x1.0x18.5L 64 % 1%/Bore(mm) 6 10 16 20 25 32
Counterbore depth6.3 P T £ BR/Working Medium = 5/Air
] 2-®6.95#Lthrough . s FHERI 3% i I 3 ;4 Double action/Single Action Extrusion type/Single Action Drawing-in T
5(3555302/715%20%/ o8l 38! 06| 38| 18| 2-mex1.0| 75| 44| 8 | 16| 14| 30 2.0 MR ZT:r:a%%ifﬁmélﬁ/ oie| 13 |exisexaal | 78 ZH{ERL R /Motion Pattern S Eh/$ 53 & EE A8 E T Double action/Single Action Extrusion type/Single Action Drawing-in Type
Counterbore depth6.3 {RUEM & f1/Ensured Pressure Resistance 1.0Mpa(10.5kgflcm®)
A=Y [£ 71/Max. Working-pressure 0.7Mpa(7.1kgflcm?)
©3Mocel | PP QOGRRRTITIUL W | v w | x| v | S o R =
(35 #0374 8 E /Ambient and Medium Temperature ~
CcXs[10-10 4-M5X0.8I2 4R E/  4-M3X0B8RLRE! | 2-M4 X 0. 782 80U R E/ X ; ;u: >
1POI30/40/50 M4x0.7 85 7 30 7 - 5 8 threaddepth4.51 threaddepth4.51 threaddept”" M3x0.5X10L M3x0.5x5L £Zh/Cushion ﬂﬁmtﬁﬂﬁ&%zﬁP/B?h ends buffer
17322 #/Margin of Stroke Error(mm) s
CcXs[15-10 4-M5X0.8I2 4R E/I  4-MAXO0.TIRLURE! | 2-M5 X 0.8 4R &/ s g = oE : 1
ropoioso | M4X07 101038510 - 518 Ty ead depth 4.5 thread depth 5 thread depth g | M5%0.8X10L| M4X0.7x4L TREAT REE BN 45 Precision of Piston rod with Non-rotating £0.8 £0.5
J&% 1&/Port Size M5 0.8 G1/8"
CXS[]20-10/20/ 4-M5X0.842 4R EI  8-MAXO0.THEGREI  2-M6X 1.082 8L R &/
304050751100 | MBX1.0/775125 45 7759.5 65 8 | "y Lo depth 4.5 ihraadidanth 6 threaddepth 10 M8X1.0X12L M5x0.8x5L
CXS[25-10/20/ 4-1/882 BURE/ 8-M5X0.8I2 4R E/ 2-M8X 1. 2582 B iR &/
30/40/50/75/100 | M6x1.0 8.5 15/ 46 15 13 9 9 0 d depth 6.5 thread depth 7.5 thread depth 12 |M8%1.0X14L) M6X1.0X5L
CXS[132-10/20/ 4-1/882 YURE/ 8-M5X0.8I2 4R E/ | 2-M8X1.2542 LR E/
30/40/50/75/100 M8%1:25 9 19 56 19 2011.510 4 ooy depth6.5  threaddepth 7.5 threaddepth 12 | M8X1.25X16L| M8x1.25x8L
# 2 /Model . #5/Model | 5| Ss| z|zz| #S/Model | s |Ss| z |72 | #S/Model | s |SS |7 |22 | B E/Model |s S5 |7 |2Z]
cxs10-10 82 c¢xsO1s10 10 70 CXs[J20-10 10 80 104 cxs2510 10 82 106 cxs3210 10 92 122
30 25 30 30 40

CXS[10-20 20 75 92 CXxS[J1520 20 80 99 CXS[J20-20 20 90 114 CXs02520 20 95 116 CXs[13220 20 102 132
CXS[]10-30 30 85 102 Ccxs[J15-30 30 90 109 ¢cxs120-30 30 100 124 cxs25-30 30 102 126 Cxs13230 30 112 142
CXS[]10-40 40 95 40 112 CcxS[11540 40 100 35 119 CXS[]20-40 40 110 40 134 CxS[12540 40 112 40 136 CxS13240 40 122 50 152
CXS[10-50 50 105 122 cxs[J15-50 50 110 129 CXS[J20-50 50 120 144 CXS[2550 50 122 146 CXS[J3250 50 132 162
CXS[J20-75 75 145 169 CXS[I25-75 75 147 171 Cxs327 75 157 187
CXSC120-100 100 170 a 194 CXS25100 100 172 - 196 CxgBE2100 100 182 u 212

107 108




cuseres \WLDPC"™  cuseres ALDPC"

Free Installation Cylinder Free Installation Cylinder

I 5MER-SF/Overall Dimension I 5MER-SF/Overall Dimension

MIEM, ¥+ (Double Acting, Single Rod) , 2P i#(Through) 2:MI X010 B{ERM, %E H(Single Acting, Spring Extend)
#i%92 £8(Rod end nut) 4-NN Ll
h 4 __2-®P j&FL(Through) M5 0.8 HEKEETL o l
N %92 £ (Rod end nut. (Plug with fixed arifice) s
o ¥ A s = ] 23} A f@?@l | =|
g — ” x 2 e =
""""" L & o [ =L
P B & e ! — T [B] [N j=|
[ = N
E GB - B
4NN MM GA E % 2.0 P 7L (Through) (Auto Switch)
GA | GB - E 4- O T3 FL(Counterbore)
B H+{T12(Stroke s
z
1 %}','\ o I
DG H=(bral | = "
CU$6~10 a E e ] e = 4 |
; : - e M5XO0B(PIZRE VB) ey meery o ] . —
G CZ j@’@\# [@] ] =] (Rodend nut)  2.0p j@7L(Through) (Plugwith fixed orifice) _L3_} o — \\%j
D = 5 2= 2
] &’( pic J D1 4@ ) — =]
2-0P i@7L(Through) At @ p— -—£ ] g | mEmm X
A E 4 © T L (Counterbore) AUoSwtch) & I S HPR B g 2 P #7L(Through)
B H S+Ti2(Stroke) .E.l A' \ LE 4-0T JiFL(Counterbore) Aﬁu%'f‘fs%%h
Z+iTB(Stroke) GA GB H+i712 (Stroke) s g (ALTSWRCH);,
5 z
e - -
I 5MER-SF/Overall Dimension
2-4 i - - -
walA = :;);En(anough) 2M5%0.8(®32H 1/8) B{EM, #¥EEE Single Acting, Spring Return
e 4-NN MM
Fs ’ #50
@ ® =] (’g?él%r‘% e 2-0P i&71(Through) /me‘ea port)  M5x0.8 T a |
€l =
_ o] - ¥ I [ =]
19 {Tn( r @ = T |

—_— =

/ 6 o il _6}6} ! :G‘};L @l < =]

BT X

& 2 P @7L(Through) (Auto Switch)
E 4-0 T 3L (Counterbare)
s

GB

]
G

o B
—5 D . [ z
& sl i =] i
X /| . MM
1. @ | 2P il ol
ol x = B o 0 114 i R D SR S S e (Through) (Bleed port) g9 |
. M5 % 0.8(®32Re 1/8 _ 3 =
CUb16~¢ 32 & = @ S92 (Rod end nut) ( ) —lgT X o _(@_@ T =]
P @ = 2 —_— =] D/ | \ - Mo .
EERE o — ! off N7 d /@f
(Widthacross flats) L/ La 5P @7L(Trough) L D \[, —— L ¢} %Tltzg;%ross _— =\ 1) =]
i ’ ; & (Widthacros )
A E 4-0TnFl(Counterbore) (Aﬁzmrxgmm LE] GB A 2- P §@&7L(Through)
B H S+{712(Stroke) o bt GA Al LE] 40T jiFl(Countertore; BMFL
Z+{T12(Stroke) 5 H s (Auto Switch)
z

I R-t3®/Dimension Sheet P RTl'iE/Dimension Sheet
£1/2/Bore size(mm) --ﬂ---_--_ _n-“-—-_ﬂ

o
m

3 7 M3 0.5 7 M3x05  M3x0.5 R(depth) 5
10 10 s 15 24 4 7 165 10 16 18 11 5 M4 % 0.7 10 10 2 15 24 4 7 165 10 16 18 11 2 M4x07  M3x0.5:R(depth)5 3.2
16 11 125 20 32 6 7 165" 115 16 25 14 5 M5 0.8 16 11 125 20 32 6 7 165 115 16 25 14 5 M5x08  M4x0.7 R(depth) 6 4.5
20 12 14 26 40 8 9 19 125 19 30 16 6 M6 1.0 20 12 14 26 40 8 9 19 125 19 30 16 6 M6x1.0  M5x0.8 R(depth)8 5.5
25 155 18 32 50 10 10 215 13 23 38 20 8 M8x1.25 25 155 18 32 5 10 10 215 13 23 38 20 8 M8x1.25 M5x 0.8 R(depth)8 55
195 22 40 125 27 48 24 10 M10% 1.25 32 195 22 | 40 62 12 11 23 125 27 48 24 10 M10X125 M6X 1.0 F(depth)9 6.6

4T12/Bore size A5 BE 1% FF 2 (Without Auto Switch) | &84 147 2 (With Auto Switch) £11%/Bore K%Eﬁ'ri%;&(vmhout A ) %Eﬁ'l'i%%(Mth fui i)
() L B : ° ’
(mm) [

33 46 33 46

st st st st st
M3 0.5 R(depth) 5 32 6 R (depth) 4.8

prs M3X05 Fdepthy5 32 - - | © 6 3R (depth) 5 = E5 5 £ 6 - - 7  6i(depth)48 - 38 43 48 56 66 76 38 43 48 56 66

16 M4x 0.7 F(depth)6 45 4 2 12 7.63F(depth) 6.5 30 46 40 56 10 - a 9 | 6iR(depth)5 - | 41 | 46 | 56 | 62 | 72 | 8 | 4 | 46 | 56 | 62 | 72

5% M5x08R(depth)8 55 O 45 16 93 F(depth) 8 o5 &5 5 - 16 4 2 12 76F(depth)65 35 45 50 60 66 76 91 45 50 60 66 76

poe M5x08Rdepth)8 55 8 45 20 | 9.3R(depth) 9 = 53 = — 20 9 45 16 93F(dept)8 5 41 46 56 65 75 90 51 56 66 75 85

32 M6x1.0:R(depth) @ 66 135 45 24 11 F(depth) 115 42 69 52 79 25 1 155 (A0 ) BOReepin | B | M8 | 0 | 60 ) US| | B | 0 | B0 | 90 | B | B

“+)5 {742(CU16-5D):14.5mm 32 135 45 24 11RdeptyM5 5 47 52 62 79 8 104 57 62 72 89 99
Note)5 Stroke(CU16-5D):14.5mm ) VT GERBER, BEEE Note) “V” Only for Single Acting,Spring Extend

109 110




MSQ Series Rotary Table
ion Cylinder

Rack & Pin

\LdrC”

MSQB 20-A MSQB 30-A
A -
I iTH#/Ordering Code
RIRS EAZ KIMWRE A R a3 i
Series Code Basic Type Size Code R R = 2 Always with magnet
10~200mm AWith Adjustable Angle Screw

I ##8&/Specifcation

A {%/Bore(mm)

{8 A 37 #K/Fluid
&= 1E BT S/ # A EZi2/MWith adjustment bole

Max.pressure

wmIEEREND

/Min.pressure

S IR 7ZE #3/R:With Shock Absorber
# 7RI /Basic type
S 4% EE/High precision type

IMEFN ARG E /Ambient and fluid temperature

£ZZ H/Cushion ™

#9A f £ 4242/ With adjustment bole

7l E R E 28/R:With Shock Absorber
4 £ A % 35 El/Angle adjustment range
5 HE 4% £ E /Maximum rotation
& % H {&/Piston bore

EEOR/
Port size

Wi RXERAENR

JEFL/End ports
fu 7L/Side ports

FRAALFHERBIA.

R:With Shock Absorber

0.2 Mpa

$15 ®18
M5x0.8

% (A 4 ) Air(non-lube)
1Mpa(10.2kgf/cm?)

0.6 MPa (6.1kgf/cm®)i¥/Note

0.1 Mpa(1.0kgf/cm®)
0.1 Mpa

0~60C(1B & % 4No freezing)

# 48 iM/Rubber bumper
2% M 2%/Shock absorber

0~190°C
190C
b 21 $25 28 $32 $40
RC1/8"
M5x0.8

Note:The maximum operating pressure of the actuator is restricted by the maximun allowable thrust of the shock absorber.

I Allowable Kinectic Energy and Rotation Time Adjustment Range

10mm
20mm
30mm
50mm
70mm
100mm
200mm

Allowable kinectic energy(mJ)

With adjustment bolt

i
25
48
81

240
320
560

With internal shock absotber

39
116
116
294
1100
1600
2900

Rotation time adjiustment range for stable operation (s/90° )

With adjustment bolt

0.2t0o1.0

0.2to1.5
0.2t02.0
0.2to2.5

With internal shock absotber

0.2t00.7

0.2to1.0

M Note:Be careful if a type with internal absorber is used below the minimum speed,the energy absorption ability will decrease drastiacally.

115

(Note)

MSQ Series Rotary Table
Rack & Pinion Cylinder

ALDPC”

I M RSt/Overall Dimension

# A Basic style:MAQBLJA

8-WD J&(depth) WE(84 A)7n/
Circumference:8 equivalents)

4-JJ R(depth) 8
2-J1§?L(Through)J

A S fLix(Counterbore
Counterbore depth) JB

EZEmMmm)| gy

$10,4 20, $ 30,6 50 ’ P\ RO Bore size
: s 10 315
' 20 34.7
2-M5x0.8 & O3/ / BD o
Piping port (2 %€/Plugged) BE&.KY 30 %47
(Max.approx.) FU 50 517
7 P & 28 M 28/With internal shock absorber MAQBLIR
®DD gE B View
»D Kfé; 2PREEORE
B3 < -PREEORE :
CA | d>‘DE @@- e m : 1/(Port Size) @
2_Jc ;/“;(depth) JD : t l (; UL mHIIme:mnHIIhm' E
2-JU S = T W
o = £ 3 ;n% "
© | == T — o <l ! s
% £ @ |
oDFiEFl | 2 i
(Through) b
T I%E YB Tﬂ/?ﬁ
BE X1y AU | BA ®DG !?A %% (Effectlve(g
(Max.approx.) SU S #o || depth)YC

I R-t3#*/Dimension Sheet

S o Lo Lo Lo Lo [ Loe Lo Lo [aelon ca Lo Loo L ox Lon
554 15.5 345 278 285 46h9 46h9 20H9
20 70.8 65 10.6 275 16 14 5 12 46 30 67 34 6 305 60h9 61h9 28H9 9
30 754 70 10.6 29 18.5 14 5 12 50 32 84 37 6.5 335 65h9 67h9 32H9 9
854 22 6 1865 63 375 100 50 375 75h9 77h9 35H9
&
-—-——-—-:
10 15H9 M8x<1.25 M5 < 0.8 M8x 1 M5x0.8
20 17H9 10 6 25 6.5 17 8.6 14 8.5 M10%x1.5 15 M6 X< 1 M10x1 M5x0.8
30 22H9 10 45 3 6.5 17 8.6 14 8.5 M10x1.5 15 M6 < 1 M10x1 Rc 1/8
26H9 5 20 105 18 105 M12x1.75 18 M8x1.25 M14x1.5 Rc 1/8
nI--
ore size
10 17.7 3H9 M5 0.8
20 37 | 117 | 10 | 12 | 60 25 54 20.5 4H9 45 M6 < 1 10 43 36 4H9 4.5 24 4H9 45
30 40 127 115 14 65 25 57 23 4H9 45 M6 < 1 10 48 39 4H9 4.5 28 4H9 45
50 46 152 145 15 75 314 66 26.5 5H9 55 M8 < 1.25 12 55 45 5H9 55 33 5H9 55

116




MSQ Seri_es_ Rotary Table \LDPC® DHZ2 /| DHC2 Serieg L\\LDPC®

Rack & Pinion Cylinder Style Pneumatic Gripper

Ml A8 Riverall Bimension DHZ2/DHC2 %3S 8h3$5/DHZ2/DHC2 Series Style Pneumatic Gripper
# 7 B Basic style:MAQBLIA
I iTH%3/Ordering Code

_®
3
ARACE e
8-WD i%(depth) WE (814 %/ QO’
Circumference:8 equivalents) & %@
= 7
4l Fidegty) IR we FHuE e s B A A
2-Ji#7L(Through)J DHZ:F4TFF %A Finger Quantity Bore =HHETHE(CR)
ASLE DHC: X mIFXkE 24PCS 840mm S $ﬂ1(59¥ FRULARER(FKM)
(Counterbore depth) JB Model C:EBH(FH) SHEERL(SI)
= DHZ:DHZ Parrallel Type Gripper Acting Type Dusty Seal Material
DHC:DHC Point Type Gripper D:Double-acting Blank:CR
$70.4100,$200 |_ ==l S:Single-acting(Normally open) FFKM
"j ( ;’fﬂé(mm) FU C:Single-acting(Normally closed) S:Si
M jH]r —= 3 Bore size
ool 4 N - -
:u ) 70 554 B fﬂ*ﬁ/Speclfcatlon
100 55.5
BE.AY 200 747 —— Mz ) =
(Max.approx') FU 7I|L1$/FIU|d =S /AIr
#h1ERI K /Motion Pattern Wz, % 5% FF/5 ) /Double-acting,single acting(Normally open/Normally closed)
T 48 i 28/With shock absorber MAQBLIR 55 {#RIE 51/Max.pressure MPa 0.7MPa
EIERED Wz (Double Acting) 0.15 0.2 0.1
® 0 i /Max.pressure Mpa B Zf1(Single Acting) 03 0.35 0.25
DD 0@ View
= z 9 » o
2-JC iR(depth) JD g :lljlg)E 35552 QS 2-Rc1/8 ’ IRIE FNEAARGE E/Ambient and fluid temperature -10~60°C
2-M5x 0.8 & O1E/ Eﬁjg < / 2%§tué§e) @ = 1R 1ESH % Max.operating frequency 180 c.p.m 60 c.p.m
Piping port i ; ; #5 £ IRepeatability Precision(mm +0.01 +0.02
(¥ %/Plugged) T s - R T " j, EE%}E i L () . _
- © 0 \2. : *ji#i8/Lubrication AT E/MNot required
B o I3 P90 0. & -© £ [1Z/Port Si
=:IH]: = 3| W) () & & O12/Port Size M3 0.5 M3 0.8
ALHL o T YT =fa 8 S S
2-u ] f B == 4 ol = T
®DFi&L 73 B O el = . . ) . .
(Though) | | 22 Al DHL2 %% @175 313 #5/DHL2 Series Parallel style wide Opening Air Gripper
e 8 BA O DG BAXK S =
TN = '*;‘&‘@‘5_ SF YB 7R
(Max.approx.) SU S HUZ A Efiscive ] = i
| = (EMace I iTH%3/Ordering Code
I R-t3®/Dimension Sheet EIF]! ? IF [F] Iji'l
nE FRHUE AR HEFR FIF/IXITE B2 M
#I 12 (mm) AB AV AW IN% BA BB BC BE CB DHL FTHER  Finger Quantity Bore Action Finger Open/Close Always with magnet
Bore size Model 24M2PCS 10-40mm D Stroke
DHL:DHL wide D:Double-Acting
42 255 110 88h9  90h9 46H9 Hioe e L e 25
100 101 102 95 50 295 27 8 17 85 50.5 130 66 42 98h9 100h9 56H9 it
119 120 113 36.5 65.5 150 116h9 118h9 64H9

FOONOEOOOOOERONEEIEE | s el

70 22H9 125 104 175 105  M12x175 M8 1.25 M20 1.5 P4 /Bore(mm) [ a s 20

100 19 24H9 145 6 35 12 27 104 175 105 M12x1.75 18 M8x 1.25 10 M20< 1.5 TRAR/Fluid Z S/Air
200 32H9 165 142 125 M16% 2 M12x1.75 M27 % 1.5 EHERL R /Motion Pattern M zfi/Double-Acting
& &5 1% A JE 1/Max.pressure Mpa(kgf/cn®) 0.6(6.1)
170 34. 2 325 M8 % 1.25 125 5HO 5H9 IMEFOFRIE E/Ambient and fluid temperature -10~60C
100 59 189 22 90 343 8 375 6H9 65  MI0x155 | 145 77 59 6H9 45 49  6H9 45 £ 15 /Repeatability Precision(mm) +0.1mm
200 74 240 29 108 402 106 44 8H9 85  M12x175 165 90 @69 8H9 45 54 8H9 6.5 &¥¥ 71 /Effective gripping force (N) at 0.5 Mpa 14 45 74 131 228 396
EENO1&/Port Size M5 % 0.8 G1/8"

117 118




Style Pneumatic Griper

DHT2 &FALFFR S BhF$5/DHT2 Series Angle Style Air Gripper Toggle Type
1T %5 /Ordering Code

E T LT

e FiEHE A HERR B2

DHT *IH‘VVJI?& Finger Quantity ~ Cylinder Diameter Action Always with magnet
Model 24MPCS 32-63mm D&%

DHT:DHT ToggleType D:Double-Acting

Air Gripper

I ##/Specifcation
S /Model | MHT2-32D

fI12/Bore size 32 40 50 63
F{ERZ/Motion Pattern W #/Double acting

{37 /Fluid =S /Air

¥ A% /13t El/Operating Voltage Range 0.1~0.6 MPa

IR FI AR B /Ambient and fluid temperature 5~60C

8 /Lubrication REZE/Not required

F{5FF i faE /Finger opening angle (Total) -3° ~28° -3 ~27° 227 ~23° -2° ~23°
& 2/Weight (kg) 0.80 1.09 1.93 2.8
1&3%F 1 (N.m)/Mffective gripping force (N.m) at 0.5 Mpa 12.4 36.0 63.0 106

CY1 RIFTLHFSEL/CY1 Series Rodless Cylinder
1T #1753 /Ordering Code

e - m

RIS BS Model AR 1718 HARS
FHSE B EZR& B:Normal Type Cylinder  Stroke  ZETHiEL
Series Code BRE S:Sliding Type Bore 0~1000mm  S:HiEE
/ 3 Rodless Cylinder L:f’?di?fﬁl%ﬁ L:Sliding Type Ball 6-d6mm Magnet Code
f# R #ER guide bearing Type 10-®10mm Blank:Without magne
RG:#ip#EE  R:Magnetically Coupled- 15_q,15mm S:Attach magnet

Direct Mout type 20-d20mm

RG:Magnetically 25-d25mm

Coupled-Direct 32-d32mm

mout-Single Joint Type 40-®40mm

50-®50mm

l *ﬂ*ﬁ/Specifcation 63-63mm

A2/Bore(mm) 6110
T &9 Bi/Working Medium =S /A

E#7F /Double action
10.5kgflcm’(1.05Mpa)

F{EE K /Motion Pattern
{RIEMT £ 71/Ensured Pressure Resistance

=1$ B £ f1/Max . pressure 7.1kgflem®(0.7Mpa)
=1 A JE 1/Min.pressure 1.8kgf/cm?(0.18Mpa)
IR AN ARIEE /Ambient and fluid temperature Cy1 B/S:5~+60°C  Cy1L:=10~+60C Cy1 R=-10~+60C
7 & & /Piston Speed Cy1 B/S:50~400mm/s  Cy1 L:50~1000mm/s Cy1 R:50~500mm/s
£ %/Buffering Cy1 B/S:# 4 ih/Both ends buffer Cy1 L:7 45 B4 i /5 E % 72 2% Skock absorber/Rubber bumper
1T#2 /> #/Margin of Stroke Error(mm) ~0~250"" 251~1000%* 1001~1500"}°
**E7&/Lubrication FEZE/Not required
& O 12/Port size M5 0.8 G1/8" G1/4"

119

\LdrC”

Special Cylinder

ALDPC”

DLF-20x 160-S DSG- 50 x 29

DLB- 40 x 80-S(ARHeiES 41)

DLG- 32 x20-T

I =i Product instruction

B QARG AMAR, REEENRRIHNSFENETLEZE, AUAERIT, AR EFESESE, RNATLURERFNE R, RBRLRIT. FRHI-R. AR H8E
kK. MRRAHFREAL, BABMBKRRLRN, BONBERENEHFIRETAL.

Our company has R&D department,can research,develop and produce all kinds of cylinders with advanced technology and sufficient professional experience. We can
research and develop new products according to customer's drawing, and strive all products for excellence. If you have new product to develop, pls don't hesitate to contact us,
we will try our best to help you.

120




ISO 6431
Standard Cylinder Accessories

ISO 6431
Standard Cylinder Accessories

\LdrC” ALDPC”

= ] BB
M B EICIEI IR - RGN
AA 158 179 190 209 248 266 ;’Efg < 14
AC 142 | 161 170 185 210 228 250 300 320 EE { AK 7 7] e | 9| 1| 11|13 17] 17
AD 8 9 10 12 19 19 20 20 30 T o BA 305 355 405 455 455 555 605 655 755
AE 47 53 65 75 95 115 140 180 220 s I BB 10 10 12 12 16 16 20 20 25
AF 32 | 3 45 50 63 75 90 115 135 | £ BC 47 53 65 75 95 115 140 180 220
AG 24 28 32 32 41 45 45 60 70 [ 99 BD 32 36 45 50 63 75 90 115 135
AH 32 | 36 45 50 63 71 90 115 135 BE 80 90 110 125 154 186 224 280 320
AP 7 9 9 9 12 145 165 185 24 BF 64 72 90 100 126 150 180 230 270
AT 3|3 3| 3| a4 4 6 6 9 - BH 4 4 4 6 6 6 8 8 12
ISO-FA/FBE!(Type) i& Z4R (Flange) i el e = = U e s el
e T 325 38 465 565 72 89 110 140 175
A IR EIE EIEIE IR
15 180 220
T 325 38 465 565 72 89 110 140 175 o Sfiféﬁ;’a/lg;e
2 e R DR B ee-84d EG : EB 100 113 125 140 160 182 -
DD 9 12 12 15 15 20 25 30 30 ET o— . e _ _
DE 10 12 12 16 16 20 25 30 30 o ke " :
DJ 13 16 17 22 22 27 33 355 36 , ¥ ) | 5 ED |25 | 98 |65 (96| 72 | o0 | & | % | %
DQ 258 27.8 31.7 397 497 597 697 897 89.7 NS — GF/—\CR = EE 52 1 8 | 78 | %0 | 105|128 | - z &
. ) —————————————— o jy Q EG 25 | 25 | 25 | 25 25 | 25 - . .
- : v ‘ ] : = EP 12 (16 | 16 | 20 [ 20| 25| - [ - | -
Sy 32 | 40 50| 63 | a0 109 125 | 160 200 & Rimn S IE I I I IR
us ' - HC 37 45 55 68 87 1075 - - ;
= 22 | 25 | 27 | 32 | 36 41 50 55 60
or CD 9 12 12 15 15 20 25 30 30 ISO-TC & (Type)iZE(Central Trunnion)
SR CE 10 12 12 16 16 20 25 30 30
S cJ 13 16 17 22 22 27 31 355 36
- CP 26 28 32 40 50 60 70 90 90 ISO-Y &(Type) &k (Joint) |
CT 45 52 60 70 90 110 130 170 170 NE
/ AN i PA1 51 59 67 77 97 119 139 181 181 'I'/ e NDl -
Vo @ PB1 455 525 605 705 905 1105 1305 170.5 1705 ; — N 1 /W
------- S 47 53 65 75 95 115 140 180 220 , , . g < P a3 ( s A
5. oaHT T 325 38 465 565 72 89 110 140 175 ] = =
ype) M E (Double Earring) E A
o T Lo L W = (D
Symbol/Bore Y 8Type | ! N 1 ®Type
a 4 el 5 L 11 ISO-Y+44F(Pin) 1SO-Y+-#1(Clip)
B 11 11 15 15 18 18 20
BG 18 2 30 35 40 50 60 Py
S BN IR N AS BN AN S NN N N N R TR
BI 21 24 33 37 47 55 70 NA 19 254 444 444
BL 8 10 105 12 14 1675 20 NC 10 12 16 16 20 20 30 35 35
BM 32 36 45 50 63 71 90 ND 40 48 64 64 80 80 110 144 144
BN 38 41 50 52 66 76 o NE 52 67 89 89 112 12 155 201 201
BO 51 54 65 67 86 96 124 NF 15 24 32 32 40 40 50 50 55
BS 12 15 18 2 20 20 30 NG 20 20 23 23 30 30 56 72 72
BR 20 2 26 30 30 38 45 NH M10x1.25 M12x1.25 M16X1.5 M16x15 M20x15 M20x15 M27x20 M36X20 M36x2.0
& 16 16 16 16 25 | 25 32 NM 10 12 16 16 20 20 30 35 35
D 10 12 12 16 16 20 25 NP 20 24 32 32 40 40 54 72 72
F 105 105 105 105 105 105 105 ISO-1 8I(Type)i&k(Joint) NQ 52 62 83 83 105 105 148 191 191
ISO-SDB & (Type) G 3 3 3 3 3 3 3 PA 26.2 328 39.3 393 53.3 53.3 64 80 80
BQ 25 28 32 40 50 60 70 PB 20 265 33 33 45 45 55.6 70.6 706
121 122




ISO 6431 | | \LDPC® Standard Cylinder Accessories L\\LDPC®

Standard Cylinder Accessories

S— e
- BRI N ‘¢ & AR o om0
ia. MI\‘—\ WA s 7 M10x1.25 <. b ~ S 12 180 220
11y T 40 58 22 8 21 28 115 8 12 MI2x125 12 ds [ V] = I 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175
- Tl = 50 9 27 10 41 445 20 10 17 M16x15 7 — DC 34 | 34 | 34 | 34 | 48 | 48 | 50 | 55 | 60
‘ ’:‘f 63 9 27 10 41 45 20 10 17 MI6x15 7 IR i = DD |14 15]15]20)]2 |2 330] 3N
M 80 102 29 13 46 53 24 13 22 M20x15 10 ¢DE DE 12 14 14 14 20 20 25 30 30
ME 100 102 29 13 46 53 24 13 22 M20x15 10 & Y+ e DJ 14 14 15 15 20 20 25 30 30
‘MTVI‘A Mo 125 147 54 13 64 62 39 14 30 M27x20 9 CAZ! (Type) £ H (Single Earring) DQ o | 20 | 20 | 2D [ e | 92| 70 | 80 | 90
160 251 72 22 115 80 80 18 36 M36x20 4
1SO-UJ E(Type) 200 251 72 22 115 80 80 18 36 M36x20 4 ey
#a#& %k (Float Joint) E:. Symbol/Bore ‘ | :
o cT cc_CJ ce 19 19 19 19 32 32 50 55 60
‘J:_A.‘ e b -5 cD 5 5 3 2 8 8 25 30 30
: sie | o Em- QO | ] CE 12 14 14 14 20 20 25 30 30
i SymbO/Bore e g N \7// . T \,A cJ 13 | 13 15 | 15 21 | 21 | 25 | 30 | 30
40 12 30 12 24 50 65 MI12x125 13 ' e _ R cpP R || s R | S [[RR] Bas] W8 [ A8 [ 68
— N s o e e e T e e L $CE or 32 44 52 52 64 64 120 160 160
o @ e i s Tet o Thioeds | 42 4 e PAI 41 518 603 603 738 738 130 170 170
55 % | de 150 |40 |52 Toc | hisowcd & | #E - PBI 335 458 54 54 655 655 1215 1615 161.5
@ wamhomom s RHHHHEHHE
ISO-PHS #!(Type) 125 37 70 30 51 110 145 M27xX2.0 15
@B} %3 (Fisheye Joint) PF 160 43 80 35 56 125 165 M36x20 16 = Mﬁl{ 32-100KJCAFICB, FATAILURM2F A EM REY = a, 1.8k
200 43 80 35 56 125 165 M36x20 16 CBE!(Type) £.H (Double Earring) AR, B TITREPRABR, M125-200 £#A %K.

CA and CB From 32-100,we can supply two kinds of materials
products:1.lron material 2. Aluminium material.When placing order,
please indicate product material. From 125-200 are all iron material.

| FriE S EL L 35 Mff 14/Standard Cylinder Accessories

DQ
o o
------------------------------------- S oo o o s o -‘ o (
Cylinder center line Y £ — | - M=
| SEe 153 169 173 184 199 210 249 328 380 § i [j 77777 *ITIE_‘.H M-.Hq:

PA
PB
NA
NME
ONK

AC 134 | 140 149 158 167 174 213 288 320 = = || ||| #Fs 1) | = Standard Cyllnder Accessories
AD 95 145 12 13 16 18 18 20 30 A e
AE 50 57 68 8 97 112 140 180 220 — NH ¢ E /M
AF 33 3 47 5 70 84 90 115 135 Pl . o [C Tl Qj —| L= —F
AG 205 235 28 31 30 30 45 60 70 i Y E(Type) € i S ( - | El(Type)
AJ 28 30 365 41 49 57 90 115 135
HFS/EE
i o R lattaratars s AN
X 2%(Foot Bracket) % AT 3 3 3 3 4 4 8 8 | 10 25 4 444
NB 20 24 32 32 40 40 45 54 54
e NC 10 12 16 16 20 20 25 30 30
S;_r;gélﬁ/ggre . ND 40 48 64 64 80 80 110 120 120
BA 283 323 383 383 473 473 NE 52 67 89 89 112 112 155 130 130
BB 10 10 10 12 16 16 20 25 25 NF 15 24 32 32 40 40 40 35 35
BC 47 52 65 76 95 115 140 180 220 NG 20 20 23 23 30 30 56 50 50
BD 33 3 47 5 70 84 90 115 135 NH M10Xx1.25 M12x125 M16x15 M16x15 M20x15 M20x15 M27x2 M36x2  M36x2
BE 72 84 104 116 143 162 224 280 320 NJ 12 20 22 22 30 30 30 40 40
BF 58 70 8 98 119 138 180 230 270 NK 18 23 30 30 39 39 54 54 54
BH 65 65 65 85 105 105 15 20 20 NM 10 12 16 16 20 20 48 40 40
AJ 105 105 135 135 5 5 19 25 25 MP 20 24 32 32 40 40 64 35 35
AK 65 65 65 85 105 105 125 165 165 1E$% 3L (Type Joint) NQ 52 62 83 83 105 105 148 150 150
FA/FBE!(Type) BP 7 7 9 9 1 1 | 16 18 22 PA 25 328 39.3 393 53.3 533 64 91 91
EZ4R(Flange) T 33 37 47 5 70 84 | 110 140 175 PB 19.5 265 33 33 45 45 55 81 81

123 124




® ®
Standard Cylinder Accessories \LDPC Mini Cylinder Accessories L\\LDPC

FFS/EE B C+{T#2(Stroke) B C+{T#2(Stroke) Be
EB 113 126 138 164 182 210 —~ &S _ <;a-— i S
o 1.1l EC 63 76 88 114 132 160 200 240 N g g </:\ |l o o . i
ED 37 | 47 | 56 | 70 84 | 110 | 140 | 175 | NC ™ e i }') i S i T et de
EE 63 76 88 114 132 160 200 240 g o 1l &l
M-FA & (Type) BB [ 2-omP BB I
EG 25 25 25 25 25 25 | 32 48 2 1§ (Flange) B 4 16~425 [L2-e8P 632~ 640 Ha-oer
T EP 25 25 25 25 25 25 | 32 37 : .
ET 30 30 30 30 40 30 38 44 S /E1Z | B ‘ i i BC BE|BF| BP| F
TCE!( Type) EC Symbol/Bore MAZFl(Series) [MALZF(Series)| 0-50 ‘ 51-100 | 0-50 | 51-100
thiZ(Central Trunnion) s 455 555 685 875 1075 1345 1725 2125 P ) : (Series) (Series)
16 38 60 e 60 85 . e 3 26 - 52 40 55 16
\ ® 20 40 76 70 76 101 70 95 4 38 - 64 50 65 12
R
o . 25 44 76 70 76 101 70 95 4 38 - 64 50 65 14
HD oHC g;@&ﬁ;ﬂ;g"e) 32 44 76 70 76 101 70 95 | 4 47|33 72 58 65 14
P & & 40 46 76 92 76 101 92 M7 4 50 36 84 70 65 14
é% / N )l W RN AL AR R A F R REEZN, MRRRERESR, BEELEHITMRBEN E-A, fIM-FA-32-A.
N ll \ l/ T Our company can also provide this used for mini cylinder flange, if you need, pls add A after all ordering code, like M-FA-32-A
_ ST 2 2
| HE - HF i 2 E
TC-ME (Type) HA
HE . = *Rﬂ
M el el
Symbol/Bore -—-B]- : [ =
40 110 455 109 815 2 " i
50 110 80 55.5 2 122 99 88 50 23 2 12 12 -
63 110 80 68.5 2 134 111 94 50 23 2 12 12 AR
80 120 85 87.5 2 160 137 127 70 23 2 14 14
100 120 85 1075 2 178 155 136 70 23 2 14 14 T AAMSA | AAMMSAL | AC AC AC(MSA | AC(MSAL
S;-;n*gélﬁ/IBﬁ BlF % = %5\/Series) | #3/Series) (MA Z 51l/| MALZZ1Y ?ﬁIJ/Series) % 5/Series) AL | AQl AP | AT | AH
ore| . : : :
ssle ffoy S - . . - 1-100[0-50/51-100| | Series) | Series) |0.50(51- 100[0 50/51-100|
2 .
| ARSI EL14/Mini Cylinder Accessories - R e —
122 147 116 141 25 106 100 106 131 100 125 54 40 15 8 65 3 25
122 147 116 141 29 106 100 106 131 100 125 54 40 15 8 65 3 25
188, MK i e a— 32 44 14 142 136 | 142 167 136 161 19 126 120 126 151 120 145 59 45 25 8 65 4 32
4 \ \74 S;?nié]ﬁ/g;emc MD -. Ml MJ‘ MK 40 46 14 142 158 | 142 167 158 183 21 126 142 126 151 142 167 64 60 25 8 65 45 36
PRy SiEa
Nl i - 20 6 8 M8x1.25 12 24 8 M8x1.25
L 4| 25 58 22 7 21 8 M10x125 12 26 17 10 M10x1.25
' 32 58 22 7 21 8 M10x125 12 26 17 10 M10x1.25 CBeStroke ) = COQ
MG 40 58 22 8 21 7 M12x125 12 28 19 12 M12x1.25 e ’ T “%
I-—>I — M M
M-UJE!(Type) MEL L b L ' AISR))
i#%h#% % Float Joint) MA N DTF- H
— I
4-9CP | ©
i g
PB I
BC cA
M-SDB #!(Type) 3 %2(Bracket) CE
I
ol <« HFSIHEE .
W ] R M A R o cain | CoUAL | €8 T B
! N A T ST T Symbal/Bore CA R5 | ®w | M A3lisaries | MSAL £ 3iSeres CD|CE|CF|CH|CT|CP|CQ|PA|PB
‘ : 20 Series) | Series) | 0-50 | 51-100 | 0-50 | 51-100
i M- 25 10 14 11 129 26 43 56 M10%125 21 19 15 6.5 17 16 ity ] prem 145 ] ] 5% | BE | 485 | 2§
i B : 32 18 [ 4] 11 129 20 [5587) 58 (MI0n1 o] 21 | 19115 | 6] 12 20 21 12 16 | 51 | 128 122 128 153 122 | 147 | 48 67 32 32 3 65 22 27 25
o
by 40 12 | 48| 421 [15:4):30:| :50}{165 |M12X4.25):24::22¢]14:9 6.5] 19 25 21 12 16 51 132 126 132 157 | 126 | 151 | 48 67 32 32 3 65 22 27 25
M-PHSE(Type) wEr = 32 27 15 16 51 135 129 135 160 129 154 | 52 67 36 36 4 65 24 30 245
& BRi% L (Fisheye Joint) P N
40 27 15 20 85 137 153 137 162 153 178 | 56 71 | 40 40 4 65 28 34 285

125 126




\LDPC" ALDPC”

Mini Cylinder Accessories Assembly kits for pneumatic Cylinder

B DNC%EI]'%&IE#/DNC Series Cylinder Kits

M-Y &/ (Type)$Ek(Joint) #1 /& /Malerial
m/ivialeria

T4 &F7/Part name #} R/Malerial

&B:0%/Cover O-ring » NBR

B Z/Front cover $8& &/Aluminum alloy

7 [ | !l o Y/ DNC Kits/ &2 /Back cover $84&/Aluminum alloy 538 %4+ /Piston seal NBR

/ = IV—_I__\_L:; e DNC =# & Z/Piston $A& €/Aluminum alloy it BE3R/Wear ring PAG6

”? : | (1S06431&V 4 shiR/Self lubriacting bearing| PTFE+ (B
' ‘ A L s " S45C {ERE K S/ =i 9 9 (Brass)

MBX1 I
< J:L‘ = ﬂD,gl/gZ%B?) | EEFPisonrod | 45Chard chrome carbon steel 57 (AT )Magnel(optional) | §1¢k/RoFeb
7. 21 . o 3Zrt:05|ze. EIféj/Barrel {84 %/Hard anodized aluminum 213 ¥5§t/Cushion needle #{fi/Brass
50 63' 3d | B 2 [El/Front Cover seal REES/PUR K7~ fE2§T/Hexagon screw | Bt#f/Carbon steel
l I 100,125 & /Cushion seal | NBR 426 /Nut B4M/Carbon steel
l ! @ ool 7) o IR B EH 0% /Pision rod O-ring NBR B I442 22 /Profile bolt BxiW/Carbon steel
,,,,,,,, - 1 12 1314 15

M-Y+$§F(Pin) M-Y++#1(Clip)

NI

PA
CINA
NV

gy
0
i

GNC

Fs BRI FS B/ Fs B/ Fs 2R/ FS 2R/
/NO Designation /NO Designation /INO Designation /NO Designation INO Designation

-
;s @ o z H2E/Nut 0%/0-ring 22 i [B]/Cushion seal Rod O-ring 17 it EE#/Wear ring
$20~ 24 2 Profile bolt 6 AT iR$T/Adjustable screw | 10 EEEOS/Cover O-ring | 14 | HZEZ I F/Piston seal | 18 | HARKIRL/Hex Socket Screw
M-I & (Type)i%:k(Joint) Ng 3 | FrontCover seal 7 ﬁﬁ/B'Ofk S"lp . 11 ELfEj/Barrel 15 | B (Ai%)/Magnet(optional) | 19 J5%/Back cover
4 A2 /Front cover 8 | &ih%hiR/Self Lubricating bearing| 12 & ZE#F/Piston rod 16 & ZE/Piston

I e o e e ] ) e e E SIRIISEIEM/S| Series Cylinder Kits

M8x1.25 10 40 21 16.5

#J S/Model

7= da/Product

#1#& /Specification

T4 ZFr/Part name

# B /Malerial

T4 & FR/Part name

#4 F/Malerial

25 19 10 40 52 15 20 M10x1.25 12 20 18 10 10 20 52 25 195 e
W= 8 & &/Alumi I 0%-/Cover O-ri
32 19 10 40 52 15 20 M10x125 12 20 18 10 10 20 52 25 195 BB fonl coyer s = REOR Cavar O-ing
Sl Kits Ja2/Back cover & &/Aluminum alloy TREE 1+ /Piston seal
40 25.4 10 45 57 15 25 M12x1.25 15 24 23 14 10 20 57 31 26 Sl E=# %2 /Piston $3 & €/Aluminum alloy it B3R /\Wear ring PAG6
(1S06431) & dRstonrod S45C {ETE LTS/ 2 i%HR/Self lubriacting bearing  PTFE+f (Brass)
f1%%/Bore size: | S45C hard chrome carbon steel | 7% (7] i%t)/Magnet(optional) | #u##li/RbFeb
$32,40,50, I f&/Barrel $a& &/Hard anodized aluminum | £%43@¥5%t/Cushion needle | #{f/Brass
63,80,100,125, | pj4:[E/Front Cover seal NBR M7~ fi2¢T/Hexagon screw | gg4i/Carbon steel
160,200 2 [E/Cushion seal | NBR 32 £ /Nut | Bri/Carbon steel
_#.‘ E 04 /Pision rod O-ring NBR B I8 22 /Profile bolt Brif/Carbon steel
| BU |

G
CG
0
1
|
1
[

L Sx4 ’
b Ll BT CH J
B
M-U #(Type) L N
¥ %2(Bracket) A
78 910
& 5 ESymba/Bas “-_n“-- ﬁ?\lg- Des‘%ﬁx/tion Des%ﬁ}ztion Desi%fgtion }/‘T_\Jg? Des%zﬁztion Desi%sz/tion
& 125 el 20 i 1 H28/Nut 5 0%/O-ring £ W [B)/Cushion seal Rod O-ring 17 it E¥R/Wear ring
12418 &b 2 18 1 26 = L z 2 g 29 5= a8 L L 2 Profile bolt | 6 W 7542£T/Adjustable screw 10 | %804 /Cover O-ring | 14 | EEZE4/Piston seal | 18 R4 Hex Socket Screw
20/25 6.6 8 20 295 32 16.1 24 10 4 8 252 75 0.9 29.5 05 3 Front:Cover'seal 7 14 B/Block slip 11 £If4/Barrel 15 | BA(ATHE)Magnet(optional) | 19 [E2/Back cover
4 BIZS/Front cover 8 | &ifdhiR/Self Lubricating bearingv 12 v & ZEFF/Piston rod 16 & E/Piston

127 128




Standard Cylinder Accessories

\LdrC”

I SCERJIISEIEM/SC Series Cylinder Kits

’ £ 5/Model

7= @/Product

#2-H/Nut
HFF 8 Tie-rod nut

Front Cover seal

A0 N

Riiz=/Front cover

T4 £ Fr/Part name #B/Malerial

| #1#&/Specification

EZFr/Part name # & /Malerial

Hij25/Front cover fAA&/Aluminum alloy & BEO0% /Cover O-ring NBR
SC Kits/ J5 % /Back cover £8& & /Aluminum alloy & EZ H{+/Piston seal NBR
SC 4 % 22/Piston A& &/Aluminum alloy | fif ¥R AWear ring ‘ PA66
£14%/Bore size: r— SA5C {ETER T AL/ Qimmﬁ§elf lubriacting -bearing PTFE+fi (Brass)
$ 32,40, $S45C hard chrome carbon steel A (AT1%)Magnet(optional) 04/ RbFeb
50,63,80, I & /Barrel {84 % /Hard anodized aluminum 21935 §t/Cushion needle #{f/Brass
100,125, B 42 )/Front Cover seal [ NBR [ A7 f42$T/Hexagon screw » BR4N/Carbon steel
160,200 4y /Cushion seal | NBR ' 828 /Nut B24/Carbon steel
& E#H 0% /Pision rod O-ring NBR ' T8/ Tie-rod nut B4M/Carbon steel
&

e i
G?CKIC)

- | () =00
1T TN

EFSs ZFR/ |Ee BFR/ ‘ﬁ% 2R/ |F& BRI 2= B/
/NO Designation [/NO Designation [/NO Designation | /NO Designation /NO Designation
1 9 3

5 0%/0O-ring 22 W1 [/Cushion seal & ZEAF/Piston rod 17 7&ZE/Piston

6 AT 1R£T/Adjustable screw | 10 #HEBE0% /Cover O-ring . 14 Rod O-ring 18 | HARHIR#/Mex Socket Screw
7 #4 R /Block slip [ 11 [ #IfE/Barrel [ 15 & ZEZEME/Piston seal | 19 J&2/Back cover

8  &im¥hR/Self Lubricating bearing' 12 Hi#FMie-rod 16 it BEER/Wear ring

I MA/MA6431&5|SEIE 4 /MA/MA6431 Series Cylinder Kits

7= d/Product

\ #2/Model

T2 FR/Part name #1 B /Malerial

T & Fr/Part name # & /Malerial

| M1 /Specification
MA ZE4#/Kits B2 /Front cover $AE&/Aluminumalloy | &B£0%/Cover O-ring NBR
s12/B i J& % /Back cover | £8& & /Aluminum alloy & EEH4/Piston seal NBR
(& i 1{6 2002ﬂ; ggio i&Z/Piston A& €/Aluminum alloy it B3R \Wear ring PAG6
_ ) 20,25,32, ' | &R /Self lubriacting bearing | :
o\ w‘-‘\ﬁ/ MAG432 E#/Kits 12 4H/Piston rod S45C {ETELR IR/ R ‘e ubriact |ng. earing  PTFE+f (Brass)
o \ S45C hard chrome carbon steel i 4 (A]1%)Magnet(optional) ekl RbFeb
: ) (1S06432) Sl
< &’\ &1 %/Bore slz6: FIfE/Barrel 45 /Stainless Steel £y ¥5¢t/Cushion needle | #{f/Brass
L)) 81012 " | Bi4[E/Front Cover seal | NBR M75fa22$T/Hexagon screw | B4R /Carbon steel
16‘20’25! 2 E/Cushion seal | NBR | $26 Nut | BriR/Carbon steel
a=cn & EH 0% /Pision rod O-ring NBR
§
®
AN
o @)
& Q @ s B ) X
@ m @ ~25)
3 4l5/l6 |7 |8 |9 i) 2 13 14 |15 16 17
Fe &/ |Fe &R/ [F= Z R Fe £/ Fe &/
/NO Designation [/NO Designation |/NO Designation /NO Designation INO Designation
1 Rod nut 5 0%/0O-ring 9 %8504 /Cover O-ring 13 7&E/Piston 17 J5%/Back cover
2 Cover Nut 6 iAT12%T/Adjustable screw | 10 &If4/Barrel 14 fif EE3R/Wear ring
3 Front Cover seal 7 &id%h/Self Lubricating bearing| 11 & 3E#F/Piston rod 15 | BA (T3%)/Magnet(optional) 7
4 Al 2=/Front cover 8 £% /1 [#]/Cushion seal 12 | EEFEHF/Piston seal 16 M AERIE/Hexagon Screw

129

Assembly kits for
Pneumatic Cylinder

ALDPC”

I MALZRJISEIEH/MAL Series Cylinder Kits

7= &/Product im,gj‘l;)@g;;glﬁon E {4 &%/ /Part name # & /Malerial
A Z/Front cover $83A &/Aluminum alloy JEE W H$/Piston seal NBR
Ja#/Back cover $8 & €/Aluminum alloy it EEERAWear ring PAG6
SC Kits/ % 22 /Piston $83 & &/Aluminum alloy & ih %R /Self lubriacting bearing ‘ PTFE+f(Brass)
‘;B .Q,‘ SC &# %47 Piston rod S45C {ERE Bt/ ‘H\E(‘Elii)/Magné!(OPtional) maxﬁ.ﬂﬂ/RbFeb
£I42/Bore size: $45C hard chrome carbon steel | 43354t /Cushion needle #4f/Brass
. ‘\" $ 16,20, £1f&/Barrel {84 % /Hard anodized aluminum A7~ #3182 $T/Hexagon screw Bk4N/Carbon steel
ﬂ‘, 25,32,40 % F /Anti-bump cushion| NBR $2£ /Nut | B$R/Carbon steel
B 42 B/Front Cover seal NBR H 7 25/ Muffler Cu
%8204 /Cover O-ring NBR '

9/ M0 (11 12 13 [14 15 |16 117

FS B/ ES 2R/ Fe B/ EFS 2w FS B/
/NO Designation /NO Designation /INO Designation /NO Designation /NO Designation
1

Rod nut 5 | &ihikR/Self Lubricating bearing 9 Rod O-ring 13 | A (AT iE)/Magnet(optional) 17 & 2/Back cover
2 | Cover Nut 6 &8E0%/Cover O-ring | 10 | BsHi#E/Anti-bump cushion | 14 it EE¥/Wear ring ‘
3 . Front Cover seal ‘ 7 fiI f&/Barrel 11 | EEZEMF/Piston seal | 15 | K EE/Impact gasket
4 B 25/Front cover 8 & ZEHF/Piston rod 12 i&ZE/Piston 16 $2-8/Nut

I SDAZRJISEIEH/SDA Series Cylinder Kits

€ /Model

#M#&/Specification #4 i /Malerial

7= dn/Product E 4 ZFR/Part name

E{4ZFr/Part name 4 /Malerial

HijZ/Front cover A A &/Aluminum alloy & BE0%/Cover O-ring NBR
L’ SDA Kits/ Ja#/Back cover $2A &/Aluminum alloy EE D /Piston seal NBR
i “.' ‘ \ ﬂ%/DB/?)flte' & Z/Piston $B3A& &/Aluminum alloy ’ %@mﬁ/§elfIubriacling.bearing | PTFE+$A(Brass)
L . ° < s $12,16,20, ' % Z#F/Piston rod S45C ERE KA AR/ B A (ATi%)Magnet(optional) | #1gk##/RbFeb
| ) ! Q 25.32.40, S45C hard chrome carbon steel CEUNIH/C type buckle | #/Steel
¢ 50,63,80,100 &I f&i/Barrel | $h&%/Hard anodized aluminum #2 5/Nut | %W /Carbon steel
B i# 5 /Anti-bump cushion NBR H 75 2%/Muffler Cu

, Y
T
5 |6 { 8 9

10 11 12 13 14
FS BRI Fs BRI Fe 2w/ Fe ZFR/ Fe £/
INO Designation /INO Designation INO Designation /NO Designation /NO Designation
1 C type buckle 4 Front cover 7 & ZE#T/Piston rod 10 | FAfiE# F/Anti-bump cushion| 13 = &&O%/Cover O-ring

& 2E/Piston 11 &L % /Barrel 14 | CHEIINIA/C type buckle
HEZEHM4/Piston seal | 12

2 Front Cover seal
3 &E:0%/Cover O-ring

5 | &ihikk/Self Lubricating bearing 8

6 | BAtE#/Anti-bump cushion 9 J& % /Back cover

130




Assembly kits for
Pneumatic Cylinder

DL-03 Series Magnetism Switch

ALDPC”

I R4S TFMH/Features and Applications

\LdrC”

I ##&/Specifcation

7= Sa/Product #lS/Model #1#&/Specification | 722 /Product - R —
2.5% FLSU &LED’E%?ETH 2.LSU type LED light
DNG ##/Kits(ISO15552) 3 EE ﬁ ERFTEDNANGS 3.Anti-vibration application
. 4.2 %E 4.Simple installation
MB Kits 5% fF /M :}”—BK,%ﬁljgijﬁg;ML 5.BK series metal brand together
MB &4 6IERSE iz 6.Suitable for many kinds of air cylinder.
(Japan Standard)
f11%/Bore size:
¢ 32,40, - H
i I ##&/Specifcation
BS/Type DL-03R DL-03N DL-03P
LR = BRN BRN N
Connect Diagram POIN;R e POWER
ADVU Kits ’
) _ ) ADVU 2 éﬂiﬁ%ﬁtﬂ/ BLU [N BLU -
\ N " (1S06431) arameter @ _ e
9 “ “ 1% /Bore size: —— _ T
. \ TAl ) e $ 16,20, e 2% 75 30/ Wiring method Z#3K/2-WireType =4 3/3-WireType
Ve e 25,32,40,50, FF £iB 48 /Switching logic SPST # 3 /Normally Open B3R LiES % F/Solid State Output,Normally Open
s‘ﬂu 63,80 i H3E S 3/Sensor type HiES FEEEY/Reed switch To3E SNPNEY (BN )/NPN Input  Joi# & PNP (8 757 1) /PNP Output
EL#2/Bore size: $160,200,250,320 18 F [ 35 l/Operating voltage 5-240V DC/AC 530V DC
a2 A FF & B i7t/Max. switching current 100mA max. 200mA max.
fil B §/Contact rating 10W max. BW max.
= JHFEH AT/Current consumption F/None 20mA max @ 24V(Switch Active)
I SEEREEH/Tube and piston rod for pneumatic cylinder P 6558 FE BENoltage drop B OVIiEE 0.5V max @ 200mA
SHEE 7T /Leakage current F/None 0.01mA max.
7= fm/Product £l =/Model ##%/Specification 7= &m/Product El = /Model #4%/Specification $e kT ER & /Indicator 4T%8/Red LED 4T¢5/Red LED % /Green LED

B A5 % /Max.exchange frequency 200Hz 1000Hz

SC,MAL Sl 1$ FIi8 [ SE B/ Temperature range -10~70C

ERE KRFERE it it /Shock 30G 50G
Round Aluminum Tube Mickey fit 2 h/Vibration 9G

Mouse Aluminum Tube
#I42/Bore size: ¢ 32,40,50,

IEC 529 IP67(NEMA 6)
7t/None BiRRHE, IR LR 3P /With protection

RPFIEZER/Enclosure classification
{R$PE8 }&/Protection circuit

#I1%/Bore size: ¢ 16,20,
25,32,40,50,63,
80,100,125,160,

200,250,320

63,80,100,
125,160,200 H14:/Cable $2.8,2C PVC I &affifith PVC $2.8,3C PVC 2l PVC
- ¢ 2.8,2C PVC Gray color,oil resistance PVC ¢ 2.8,3C PVC Blank color,oil resistance PVC
SDA
4/ Aluminum Tube I S5MERSH/Overall Dimension
DO #1%2/Bore size: ¢ 12,16,20,25,
& 32,40,50,63,80,100 Q
Square Aluminum Tube I [ E}%
£11%2/Bore size: ¢ 32,40,50 B RREHSDARER KRN, 2542 —
Ao, MRMRBEBEEUITHRE, FHANREM, 1000420
63,80,100,125 B4 DR, LL——:] DL-03P, 1000420
Note:Normally we provide SDA unoxided DL-03R, DL-03P-QD
Jumini ,if d that with oxide,
Sli"éé"'s“p'é‘c‘#iiiLlﬁiu”seeeprfcé“al” giffg)r(én?. DL-03R-QD I: D Eﬂjﬂm DL-03N, [ D Iiﬂ]:
o s DL-03N-QD 15301;9 :[[ﬂm
MA MA6432 575 AR B BE R R
ADVU TERE Most sensitive position Most sensitive position
& /Aluminum Tube Stainless Steel Tube i
#17%/Bore size: ¢ ,20, (B #5 ) (High precision) : H
25,32,40,50,63,80 £172/Bore size: ¢ 8,10,12, l E B D E/J‘)' nt Plpe Bore
16,20,25,32,40
DL-03% %I {& FAPBKE ZE N/ 3 : i
PBK metal band for DL-03 series QD= 3k 1 £ 8/QD Pinout
ARk =& ARk
= = 2 wire QD wiring 3 wire QD wiring
,ﬁ%ﬁgﬁ:‘fﬂ%}%iﬁ) ZHERNAFIATLURBEFHHKRETEEZHEEF, B
45# Steel Ch lated L fﬁ%(\fv)r\,m BROWN(+)
( 28 00 LNOMa: peln ) Note:Our company can provide different diameteres
#1{%/Bore size: $ 6,8,10,12, piston rodes including stainless steel material's o é’ﬁ%&%bn
16,20,25,32,40,45, according to customers requirement. O y
50,60,70,etc. Bf(-) ®ea(-)
= BLUE(-) BLUE(-)

ERATF ¢6-¢63EFSKE
Forround cylinder ¢ 6-¢ 63

131 132




ALDPC”

7= %% 2 F M /Features and Applications

ALDPC”

%52 F B B /Features and Applications B

DL-21R Series Magnetism Switch DL-31R Series Magnetism Switch

'
20

1FEmEE 1.Compact design 1FXEHEE 1.Compact design
2% B RELEDA KIETR T 2.LED light 2.%%%%FLEDZ€t#ETH 2.LED light
\. 3R EE I RS I E G 3.Anti-vibration application 3IMERIT, RATEMNANIGE 3.Anti-vibration application
\\/ > 4 & BPIFNPMAE #h R 5 2 4.P1,PM series clamp together 4.7 IR A /]f“‘t%ﬂ%ﬂ,ﬁﬁﬁa‘fﬁﬁ-t 4.For groove and bandage fixing type
5.% % & 5.Simple installation 5.;%&11@ ES) 5.Simple installation
\/ 6 E A TR AMRAERSFIFF 6.Suitable for all kinds of standard tie-rod EA T AR TSI 6.Suitable for all kinds of groove type
KFERSRE and micky-mouse barrel cylinder. and minitype cylinder.

I ##%/Specifcation

i Ai1Spaciicatlon

s s R S/Type DL-31R DL-31N DL-31P
R N | B RN BRN
Connect Diagram S LesD ! L oanl 1 ] . e TN I
e . BLK oty BLK - EEE/ e Wor 4 BRN BRN
MRS E BLU b BLU } AKF gLy LOAD | Gonnpat Diageam ) - BLKk LOAD = | T e ¥
Parameter = ° °- N ° °- ] POWER POWER > POWER
M SE/ BLU b BLU } %E‘K’» pLu LoADl |
R R = 2 - e Parameter . °_ . °- o5t ° L ®-
fit 273 3 /Wiring method Z#30/2-WireType =% 3/3-WireType
T : S — -
FFxiZ48/Switching logic SPST & 7F3z(/Normally Open BFRLiES ¥ FR/Solid State Output,Normally Open 824575 2/ Wiring method — st /2_WireType = 4/3-WireType

i HiE = izl /Sensor type

FiEA TEET/Reed switch

FTi% SNPN;_L( z:R71 ml.)\)/N PN Input ¥ S PNP fk-._(@ pibiiter] )IPN B OUtPUt

FF 5B 48/Switching logic

SPST & 73X /Normally Open

B RIS §HR/Solid State Output,Normally Open

Efiele X Lperaling vohans g DD UIOD % 7 /Sensor type BEA FREDRecdswich | FHREANPNE(BFEAA)NPN Input | FokE % PNP (37 7 t)/PNP Output
ﬁkii& Ea,,.L/Max.stchmg current 100mA max. 200mA max. {35 e [ 3% [l/Operating voltage P R
iﬂiﬁ =5 l/Conlact fafing - 10 ks A - - B K FF K 7 /Max.switching current 100mA max. 100mA max.
3 #E R 7 /Current consumption Fc/None 20mA max @ 24V(Switch Active) fil B3 25 §/Contact rating 10W max. 3W max.
Egi’gﬁ’v :'tage drop 3;_:))/ max. - ngAmax $#E HL37%/Current consumption %/None 17mA max @ 24V(Switch Active) | 14mA max @ 24V(Switch Active)
sttt 35 B 37 /Leakage current None DimAmas R e [EFE/Voltage dro 2.5V max.@ 100mA 0.5V max @ 200mA
{ERATER 8/Indicator 418/Red LED 4T /Red LED 4 /Green LED ﬁg Eg;jfeakagg curr:nt ";;;‘Nfie L i
Esij(z] *Mﬁ/Max'eXChange i LL 2002 — e &R KTER 2 /Indicator 4] fa/Red LED 41 f&/Red LED % fa/Green LED
ﬁfﬁ;mﬁ{?ﬁ/'remperature ol il wm A V1385 % Max.exchange frequency 200Hz 1000Hz
gﬁ;ﬁloc? 306 e e {E iR ESEEl/Temperature range -10~70C
{725 /Vibration ifif d3/Shock 30G s
RIPHIIEZELR/Enclosure classification IEC 529 IP67(NEMA 6) iﬁ%;ﬁ AIbration =
{R$AE #&/Protection circuit Jc/None BIRAIE, RIERUKERIAMWith protection (R34 Enclosure classification IEC 529 IP67(NEMA 6)
F14%/Cable $4.0,2C PVC X &ifii PVC $4.0,3C PVC Z&fitih PVC {R$P B8 B&/Protection circuit 7 /None BR R 3%E, REER U IR P With protection

5p 2 R 5t/ Overall Dimension

=5

$4.0,2C PVC Gray color,oil resistance PVC

¢ 4.0,3C PVC Blank color,oil resistance PVC

i #%/Cable

I 5MERSt/Overall Dimension

$3.0,2C PVC 7x &&ffi{jl§ PVC
$3.0,2C PVC Gray color,oil resistance PVC

$3.0,3C PVC 2 itk PVC
$ 3.0,3C PVC Blank color,oil resistance PVC

T == T fe
| < +9 . " =

20 | 100020 DL-21P, — 100'5:%‘" 6.2 [(D @ “:)::qu 6.21— | () @ ID:H:E’)E

DL-21R, J DL-21P-QD L 29 L. | . § 2542 J DL-34P | 4 25+2

DL-21R-QD r DL-21N ———— DL-31R | 29.0 l 1000+ 20 DL-31 P‘-QD |_ 29.0 | 1000420
= 1 - % 5 il I r 1

e Be o [ e | oo T '
|13 | - 1 S A N 6 BEBEE - 1 L 3 o N 1
Most sensitive position Lol Most sensitive position i 3}: H—LI ;— 7_4 i 150410 | b E D e ]_Jw, N i 150410 |
RE RN E \\ BE BN ALE

#E N0 1%/Joint Pipe Bore

DL-21%&7%% % 77 ®/Installation of DL-21

QD 3k ## Z B/QD Pinout

Most sensitive position

I % 0%/Joint Pipe Bore

Most sensitive position

PMEExXE PACEIEXkE PABEIE PNFEE R PIBIERA
Fixed clampin Fixed clampin Fixed Fixed Fixed clampin ; ’ 5 = ; $ DL-31% %134 T [#l/Groove dimension of DL-31 series S % B i
devicep ¥ devicep . steel belt steel belt devicep ‘ 5—: %‘ﬂgfg"‘ ;ﬁiﬁgf &;; o §JI’;%§0—€@ KRB /E0 Piaant
S ’ B WAEEREWIRDS e wiing \-—- —= _R0.2'4 Rk SR Pk
? PR 2 wire QD wiring 3 wire QD wiring
K a(+) R E(+) &
3 ; BROWN(+) /5> SR ] S ] = e )

O—0 N B << o °° E&(0UT) vf 2y e éhc>(\7v)N(+) BROWN(+
EATF ¢ 32% 6150 AT 6 32% $150 EAF 612% 6100 EAF ¢ 12% 6 150 BT ¢ 32% ¢ 100 o o % SEAGKIDRT) - ( o > 2&(0UT)
HFFSE, HFES IS, HFER ERSER ¢ 12F BRSE 1S OS L (K BYST; : ®(- "3 B i =
R4 6 32% 6 150 ROH632% 615 ¢ 100HHSE For round cylinder Fnr;ich(y-maus)e };L%EE()—) e . gal_%%() ) 63401 \_ o/ BLACK(OUT)
For tie—rod cylinder For tie-rod cylinder For tie-rod cylinder 6 12-6 150 cylinder ¢ 32-$ 100 = DA ®a(-) (-
32~ ¢ 150 tie-rod 32— 6 150 tie-rod $12-¢ 100 and round g g . Ea(-)
dimwnsion «»:;016 dimwnsion ols— ?16 cylinder ¢ 132— :?00 @m :_FDNCE\,E[/FOF DNC Cy|lnder BLUE(-) BLUE(-)

133

134




5 ® . ®
DL-11R Series Magnetism Switch \LDPC BK /PBN /PN Series Clamp L\\LDPC

I m4¥ = TMA/Features and Applications I BK R3IEE##/BK Series Clamp

LA FEEDL-03%FN#MEF XS ¢ 6L, LM EFSE/Clamp is designed formounting DL-03 series sensor on ¢ 6 bore and above round cylinder

1.9 ?ﬂ@'ﬁ?ﬁ P 1. Compact design 7= dn/Product R~t/Dimension | L7730/ Mounting
2. RFAEE ELEDA R IETAT 2.LED light '
3.k #B B3I =G LR g it 3. Anti-vibration application 13 4 1 Step 1 HMW2 Step 2 H 3 Step 3 % 4 Step 4
4R AAEAMALAMELAR 4. For groove and bandage fixing type 5 1SR LR | 1 B — NSk 1 FEAER ST | 1B R E ATk
- {eL-S— bt B | 5 B AR L Cot o o band | 3 BRI, RN
6.1 (% E)R ; ; ; 2. 3.5—i # 125, 1.Cut the metal band | 3.$%4R0REN AT,
- o i 5. Bultable forthinitype(Eompact) eylinder MmN, 1.Put one end of the band to the hz_nger atuthe opposite face 1-PJU! the metal band on the marked
1.Release the screw up | 2.Install the switch and strain the metal hand | of the marked position| position.
2.Make the screw 3.Another end of the band to the hanger 2.Install the switch,lock the screw.
within the collect and make mark. 3.Finally lock the screw nut.
I ##&/Specifcation
BE/T DL-11R | DL-11RB DL-11N DL-11P E:'tﬁh;a'f
- - - 5
Mark’i E
Connect Diagram ol [ e 1 o "N\ =
POWER E POWER
=]
MRS | aw ‘Z@T BE.“ )" E] :
Parameter = =S ey - = . =
BK-81:3& A F ¢ 6- ¢ 63E S &L # i 4#F S &L For round cylind cylinder and tie-rod cylinder ¢ 6-¢ 63.
itk 77 7t/ Wiring method —#3t/2-WireType =%37%/3 WireType BK-82:3& i F ¢ 6- ¢ 125FH S EL ML AF SEL(KTF ¢ 12552 HI 7T E M) For round cylind cylinder and tie-rod cylinder ¢ 6- ¢ 125.(Speed design for= ¢ 125)
FF %12 48/Switching logic SPST & Fzt/Nomally Open SPST % F1&!/Nomally Closed BFR TiE S & 3 /Solid State Output,Normally Open l | - a
i H #2 S 230 /Sensor type BiEs TH#H %3 /Reed switch FoiE SNPNE(EFEEN)NPN Input  FiESPNP B8 57574 )/PNP Output PBN gﬁ] E Eeﬂ ﬁl/ PBN Sfrles Clam p ) ) )
1% F K8 JE 35 B /Operating voltage 5.240V DC/AC 5.120V DC/AC 5.30V DC ERFEEDL-20R 5B M XS ¢ 1201 LW EIF S E/Clamp is designed for mounting DL-20 series sensor on ¢ 12 bore and above round cylinder
& : : e ; ;
2 A FF S H 7 /Max.switching current 100mA max. 200mA max. 7= /P R }/Dimension | #3773 /Mounting
fih FL 25 2/Contact rating 10W max. 6W max. pnt o [ "A-l IR 1 Step 1 3% 2 Step 2 438 3 Step 3 3 4 Step 4
JHFEHR/Current consumption F/None 20mA max@ 24V(Switch Active) ﬁ i @ & |I ., 1,5gﬁ$;&immg 1‘ﬁg%2ﬁ§$§%mﬁm 1?[];?%2%2%@% égigﬁﬁf_ﬁfné\f?&giﬁ;ﬁ%x
- = ATFF 2. BT K H » (i, o RIMRRIT R, SRR, KIS
&R E8 [EBE/Voltage drop 2.5V max.@100mA 0.5V max @ 200mA 5 » " DML AR | 3.5 LU ATL IR, | 1.Cutthe metalband | 3 RERIREIAT,
ittt 5% F i7t/Leakage current F/None 0.01mA max. b i } IR, 1.Put one end of the band to the hanger | at the opposite face | 1.Put the metal band on the marked
= : 3 1.Rel th 2.Install th itch and strain thi tal hand | of the marked position position.
HERATERR/Indicator 412/Red LED 41 /Red LED £ f8/Green LED a 24Masgstﬁe sec?gv?w o Cl/&ﬁotheretes;1m(’il gf tﬁg bsanclinto teh:eniangg? 2.Install the switch,lock the screw.
Sensitivity 40Gauss E within the collect and make mark. 3.Finally lock the screw nut.
= K YR85 2 /Max.exchange frequency 200Hz 1000Hz 122
f# AR ESE B/ Temperature range -10~70°C g ; EkAlins '_;
ffit 14 /Shock 30G 50G 5 N wex [H
it = Zh/Vibration 9G ' m;’:‘ \
RIPFIFEZ Z/Enclosure classification IEC 529 IP67(NEMA 6) _— Cutine\,
R 3P E2 B&/Protection circuit F/None R E, IR U IR 3P/ With protection g g =
H£E/Cabel $3.2,2C PVC R fafifih PVC $3.2,3C PVC R fafitil PVC o
P el $3.2,2C PVC Gray color,oil resistance PVC ¢ 3.2,3C PVC Blank color,oil resistance PVC

BK-81:3& A F ¢ 6- ¢ 63E S &L F 1 4F S & For round cylind cylinder and tie-rod cylinder ¢ 6-¢ 63.
BK-82:3& A F ¢ 6- ¢ 125 F S EL ML AT SE(KTF ¢ 125517 BRI E M) For round cylind cylinder and tie-rod cylinder ¢ 6- ¢ 125.(Speed design for= ¢ 125)

/¥ R‘]’/Overall Dimension I PN E5IEE % /PN Series Clamp

ERAFEEDL-20R 5B M XS ¢ 1200 LW BEIF S &/Clamp is designed for mounting XC-20series sensor on ¢ 12 bore and above round cylinder
= SL 7= fa/Product | R~F/Dimension £ %7730/ Mounting
DL-11R . il 150’10 DL-11N '5 L—"“—"1SOHO %1 Step 1 #1E 2 Step 2 418 3 Step 3 $UE 4 Step 4
DL-11R-QR DL-11N-QD [
@ ©@ 5 ! 1000-+20 - (@ 1000 420 15848k bR L | 1B —ImEA R MEN L 10T EER S/FEN 1&3&'&?3‘1@%—%%)&%%#@%1
O Tl o L85 |2 gmzmes&s;u B RAROI A LIS, oo neniband | SRR, ok
w2842 2042 EI % %, 1.Put one end of the band to the hanger at the opposite face | 1.Put the metal band on the marked
LReJease the screw up | 2.Install the switch and strain the metal hand | of the marked position gcisltgrlhh —_—_
1 H 2.Make the screw 3.Another end of the band to the hanger .Ins e switch,lock the screw.
l E% l:l &/JOI nt Plpe Bore 4 within the collect and make mark. . 3.Finally lock the screw nut.
+
S— ! 5 ’ . E
3.240.1 QD#E L #4 El/QD Pinout H .
it /Unilateral Groove —gb st phE L SRS @ H
71401 2 wire QD wiring 3 wire QD wiring 3 E
HR(+) RE()
32401 BROWN(+) BROWN(+)
M i ;A /Bilateral Groove o Z&(0UT) .
s BLACK(OUT) —_ SEH¢12  Round cylinder ¢ 12
T £ HeE(-) N 2 ®aE kg PN T S 20 5 ﬁ'—\.ﬁ}) ¢ 16 Round cylinder ¢ 16
3.240 11 T—I : BLUE(-) BLUEE_()—) 150: FFSEH ¢ 150  Round cylinder ¢ 150
= Z S:EFSEL A A ## F/Stainless steel round cylinder
B Y5 4% /Double Unilateral Groove ARRSE A $AA € #15/Aluminum round cylinder

135 136




Pl / PAC Series Bracket

I Pl &5IEEXE/PI Series Bracket

FRREARRKDL21IRFIE RIS EISOSEEL, (kF3!)/Bracket is designed for mounting DL-21 series sensor on ISO profile cylinder.(mickey mouse Type)

7= fn/Product | % %% R~f/Dimension/Installation

PI-1(32/40) PI1-2(50/63)
4 / \D( T 4.1
-
—
PI-3(80) PI1-4(100)

[ 14 .45

-

F,

PI-5(125)

I PAC RJ%I|EE ¥ E/PAC Series Bracket

FRRE HREDL21 R FIHLFEI/Bracketis designed for mounting DL-21 series on tie-rod cylinder.

7= fa/Product % 3t R~f/Dimension/Installation
o B 1.5
| | ] |
| ©
// 2 v
o
\//

£ ¢32- ¢ 100RSE . WEGEEMTT 64-¢10)
; ; : g 3 £ EZ/Diameter oftir rod
Using for tie-rod cylinder ¢32-¢ 100,hydraulic cylinder (tie-rod bore ¢4- $10) MEIQrorURIg

137

ALDPC”

PM / SU Series Bracket

I PM ZR3%|E ¥k H/PM Series Bracket

FRRE AHRIEDL 21 R FIH #F&I/Bracket is designed for mounting DL-21 series on tie-rod cylinder.

7= fa/Product

ALDPC”

% 3£ R ~t/Dimension/Installation

PM-6(32/40/50)

3

1@ of Tf1r6°d

I SU ZEJIEIE ¥ EA/SU Series Bracket

FRREHREDL-21RIE B AKX FSE(SU B)/Bracket is designed for mounting DL-21R sensor on mickey mouse Type cylinder (SU Type)

PM-8(63)

%

H7%/Dia
of Tie rod:
168

PM-12(125) °

B /Dia
of Tie rod:
1912

%2 %% R <t /Dimension/Installation
Su-32 SN @~ SU-40 o \{
\>\ \
y ] B TP e @}
-~ _’io.soL ©x==X0 11.01
SU-50 o i su- 63 a T~
— 5 } J%
- - J
1143 QO ~~0 1356
SU-80 o SU-100 \«w‘x/ T
— » O% P @ﬂ@
- ) >
s 17.89 =<9 18.20 5 o
. SU-125 o t SU-160 B =
‘ e ® $> OY%B
@ €C> S U;é
o AJWWL =0 _>25v49L © ©)
SU-200 PN

26.50 (Q/\_/\Q)

138




	幻灯片 1
	幻灯片 2
	幻灯片 3
	幻灯片 4
	幻灯片 5
	幻灯片 6
	幻灯片 7
	幻灯片 8
	幻灯片 9
	幻灯片 10
	幻灯片 11
	幻灯片 12
	幻灯片 13
	幻灯片 14
	幻灯片 15
	幻灯片 16
	幻灯片 17
	幻灯片 18
	幻灯片 19
	幻灯片 20
	幻灯片 21
	幻灯片 22
	幻灯片 23
	幻灯片 24
	幻灯片 25
	幻灯片 26
	幻灯片 27
	幻灯片 28
	幻灯片 29
	幻灯片 30

